### Bid Abstract

# Riverside County Flood Control & Water Conservation District

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

Project Name: L.I.D. Testing & Demonstration Facility, Parking Lot Renovation 2010, and Water Efficient Landscape Conversion

**Project Number:** 0-4-1027-00 **Bid Open Date:** 09/07/2010



| <b>Bid Open Date:</b> 09/07/2010   |  |                                  | ENGINEER'S   | SESTIMATE  | ASR CONSTRUCTORS, INC.  |  | YAKAR   |  |
|--|--|----------------------------------|--|--|---|--|---|--|
| Item No. & Description  1 MOBILIZATION  2 WATER CONTROL  3 TRAFFIC CONTROL  4 CLEARING AND MISCELLANEOUS WORK  5 EXTRA DIRECTED WORK   | Unit<br>L.S.<br>L.S.<br>L.S.<br>L.S.<br>L.S. | <b>Quantity</b> 1  1  1  1  1  1 | Unit Bid<br>\$50,000.00<br>\$10,000.00<br>\$8,620.00<br>\$223,506.00<br>\$150,000.00 | **Total Bid \$50,000.00 \$10,000.00 \$8,620.00 \$223,506.00 \$150,000.00 | **Toda  | <b>Total Bid</b> \$371,000.00 \$15,000.00 \$15,000.00 \$71,700.00 \$150,000.00 | Unit Bid<br>\$125,000.00<br>\$2,500.00<br>\$2,500.00<br>\$85,000.00<br>\$150,000.00 | <b>Total Bid</b> \$125,000.00 \$2,500.00 \$2,500.00 \$85,000.00 \$150,000.00 |
| <ul> <li>6 EXCAVATION</li> <li>7 TRENCH SAFETY SYSTEM</li> <li>8 CLASS "A" CONCRETE, 3'X3' CLEANOUT<br/>STRUCTURE AND SAMPLING VAULT</li> <li>9 CLASS "A" CONCRETE, TRANSITION<br/>STRUCTURE NO. 3</li> <li>10 CLASS "A" CONCRETE, UNDER<br/>SIDEWALK DRAIN</li> </ul> | C.Y.<br>L.S.<br>EACH<br>EACH                 | 7,230<br>1<br>9<br>3             | \$9.00<br>\$5,000.00<br>\$3,150.00<br>\$730.00<br>\$1,675.00                         | \$65,070.00<br>\$5,000.00<br>\$28,350.00<br>\$2,190.00<br>\$5,025.00     | \$17.00<br>\$1,500.00<br>\$1,280.00<br>\$1,385.00<br>\$1,280.00 | \$122,910.00<br>\$1,500.00<br>\$11,520.00<br>\$4,155.00<br>\$3,840.00          | \$27.00<br>\$7,500.00<br>\$2,000.00<br>\$1,500.00<br>\$2,600.00                     | \$195,210.00<br>\$7,500.00<br>\$18,000.00<br>\$4,500.00<br>\$7,800.00        |
| 11 CLASS "A" CONCRETE, FOOTING AND CMU RAISED PLANTERS AND ENTRY SIGN WALLS  | L.F.   | 158                              | \$100.00   | \$15,800.00  | \$118.00  | \$18,644.00  | \$185.00  | \$29,230.00  |
| <ul> <li>12 CLASS "A" CONCRETE, CMU FLOW<br/>THROUGH PLANTER WALLS</li> <li>13 CLASS "A" CONCRETE, LANDSCAPE<br/>FILTER BASIN RETAINING WALL</li> </ul>  | L.F.   | 183<br>48                        | \$50.00<br>\$820.00  | \$9,150.00<br>\$39,360.00  | \$70.00<br>\$367.00   | \$12,810.00<br>\$17,616.00   | \$280.00<br>\$750.00  | \$51,240.00<br>\$36,000.00   |
| <ul> <li>14 CLASS "A" CONCRETE, SAMPLING BASIN STRUCTURE</li> <li>15 CLASS "B" CONCRETE, CURB AND GUTTER (CD1, CD2, CD3, CD9)</li> </ul>   | EACH<br>L.F.                                 | 984                              | \$10,000.00<br>\$34.50   | \$10,000.00<br>\$33,948.00   | \$7,900.00<br>\$9.00  | \$7,900.00<br>\$8,856.00   | \$750.00<br>\$25.00   | \$750.00<br>\$24,600.00  |
| 16 CLASS "B" CONCRETE, STANDARD CURB (CD4, CD5, CD6, CD7, CD8, CD24, CD26) 17 CLASS "B" CONCRETE, DEEPENED CURB  | L.F.   | 3,500<br>5,250                   | \$12.00<br>\$27.20   | \$42,000.00<br>\$142,800.00  | \$6.50<br>\$20.00   | \$22,750.00<br>\$105,000.00  | \$15.00<br>\$15.00  | \$52,500.00<br>\$78,750.00   |
| (CD10, CD11, CD12, CD30, CD31)  18 CLASS "B" CONCRETE, MISCELLANEOUS  19 CLASS "B" CONCRETE, PLANTER AND BUILDING SLABS  | C.Y.<br>C.Y.                                 | 57<br>24                         | \$540.00<br>\$540.00   | \$30,780.00<br>\$12,960.00   | \$228.00<br>\$150.00  | \$12,996.00<br>\$3,600.00  | \$300.00<br>\$300.00  | \$17,100.00<br>\$7,200.00  |
| 20 INSTALL DECORATIVE CONCRETE FLATWORK  | L.S.   | 1                                | \$5,000.00   | \$5,000.00   | \$3,000.00  | \$3,000.00   | \$15,000.00   | \$15,000.00  |

Project Number: 0-4-1027-00
Page 2 of 25

| <b>Bid Open Date:</b> 09/07/2010  |           |          | ENGINEER'S | ESTIMATE     |          | ASR CONSTRUCTORS, INC. |          | AKAR         |
|---|-----------|----------|------------|--------------|----------|------------------------|----------|--------------|
| Item No. & Description  | Unit      | Quantity | Unit Bid   | Total Bid    | Unit Bid | Total Bid              | Unit Bid | Total Bid    |
| 21 REINFORCED CONCRETE PIPE   | L.F.      | 200      | \$86.50    | \$17,300.00  | \$119.00 | \$23,800.00            | \$121.00 | \$24,200.00  |
| 22 3" CLASS 2 AGGREGATE BASE<br>DRIVEWAY AND ACCESS RAMP  | C.Y.      | 10       | \$108.00   | \$1,080.00   | \$50.00  | \$500.00               | \$95.00  | \$950.00     |
| 23 PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 13" #2 STONE  | S.F.      | 25,400   | \$15.35    | \$389,890.00 | \$7.55   | \$191,770.00           | \$8.94   | \$227,076.00 |
| 24 PERVIOUS PAVERS OVER 2" #8 OVER<br>10-7/8" #57 STONE   | S.F.      | 9,270    | \$14.40    | \$133,488.00 | \$6.70   | \$62,109.00            | \$8.94   | \$82,873.80  |
| 25 PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 17" #2 STONE  | S.F.      | 5,660    | \$16.05    | \$90,843.00  | \$8.70   | \$49,242.00            | \$8.94   | \$50,600.40  |
| 26 PERVIOUS PAVERS OVER 1" #8 OVER 4"<br>#57 STONE  | S.F.      | 1,184    | \$14.00    | \$16,576.00  | \$7.00   | \$8,288.00             | \$8.94   | \$10,584.96  |
| 27 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSIT<br>BARRIER  | S.F.      | 2,360    | \$17.15    | \$40,474.00  | \$13.25  | \$31,270.00            | \$15.45  | \$36,462.00  |
| 28 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER |           | 2,090    | \$19.00    | \$39,710.00  | \$13.30  | \$27,797.00            | \$17.10  | \$35,739.00  |
| 29 5" POROUS ASPHALT OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSIT<br>BARRIER   | S.F.<br>E | 2,270    | \$15.20    | \$34,504.00  | \$7.00   | \$15,890.00            | \$6.00   | \$13,620.00  |
| 30 5" POROUS ASPHALT OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER      | S.F.      | 1,700    | \$17.00    | \$28,900.00  | \$8.50   | \$14,450.00            | \$15.00  | \$25,500.00  |
| 31 4" AC OVER 6" CLASS 2 AGGREGATE<br>BASE AND 4" AC OVER 11" CLASS 2<br>AGGREGATE BASE   | S.F.      | 76,655   | \$3.40     | \$260,627.00 | \$2.75   | \$210,801.25           | \$2.25   | \$172,473.75 |
| 32 VARIABLE DEPTH AC OVERLAY  | TONS      | 31       | \$72.00    | \$2,232.00   | \$80.00  | \$2,480.00             | \$210.00 | \$6,510.00   |
| 33 GRIND EXISTING AC PAVEMENT   | S.F.      | 720      | \$3.00     | \$2,160.00   | \$2.00   | \$1,440.00             | \$4.00   | \$2,880.00   |
| 34 SLURRY SEAL  | S.F.      | 35,800   | \$0.10     | \$3,580.00   | \$0.33   | \$11,814.00            | \$0.54   | \$19,332.00  |
| 35 BOLLARD  | EACH      | 260      | \$375.00   | \$97,500.00  | \$135.00 | \$35,100.00            | \$110.00 | \$28,600.00  |

Project Number: 0-4-1027-00

Page 3 of 25

| <b>Bid Open Date:</b> 09/07/2010  |      |          | ENGINEER'S  | ESTIMATE    |             | ASR CONSTRUCTORS, INC. |             | AKAR        |
|---|------|----------|-------------|-------------|-------------|------------------------|-------------|-------------|
| Item No. & Description  | Unit | Quantity | Unit Bid    | Total Bid   | Unit Bid    | Total Bid              | Unit Bid    | Total Bid   |
| 36 4" PVC PIPE  | L.F. | 78       | \$18.00     | \$1,404.00  | \$32.00     | \$2,496.00             | \$15.00     | \$1,170.00  |
| 37 6" PVC PIPE  | L.F. | 2,126    | \$20.00     | \$42,520.00 | \$35.00     | \$74,410.00            | \$10.00     | \$21,260.00 |
| 38 8" PVC PIPE  | L.F. | 369      | \$30.00     | \$11,070.00 | \$36.50     | \$13,468.50            | \$15.00     | \$5,535.00  |
| 39 12" PVC PIPE   | L.F. | 314      | \$60.00     | \$18,840.00 | \$42.00     | \$13,188.00            | \$25.00     | \$7,850.00  |
| 40 18" PVC PIPE   | L.F. | 33       | \$113.00    | \$3,729.00  | \$49.00     | \$1,617.00             | \$50.00     | \$1,650.00  |
| 41 10" WIDE SLOTTED DRAIN   | L.F. | 177      | \$75.00     | \$13,275.00 | \$35.00     | \$6,195.00             | \$40.00     | \$7,080.00  |
| 42 PRECAST CONCRETE FLOW DETECTION CATCH BASIN  | EACH | 3        | \$600.00    | \$1,800.00  | \$2,400.00  | \$7,200.00             | \$2,150.00  | \$6,450.00  |
| 43 9"X9" PLASTIC CATCH BASIN  | EACH | 7        | \$500.00    | \$3,500.00  | \$126.00    | \$882.00               | \$650.00    | \$4,550.00  |
| 44 18"X18" PRECAST CONCRETE CATCH<br>BASIN  | EACH | 2        | \$800.00    | \$1,600.00  | \$2,600.00  | \$5,200.00             | \$1,250.00  | \$2,500.00  |
| 45 24"X24" PRECAST CONCRETE CATCH<br>BASIN  | EACH | 1        | \$1,000.00  | \$1,000.00  | \$3,500.00  | \$3,500.00             | \$1,250.00  | \$1,250.00  |
| 46 36"X36" PRECAST CONCRETE CATCH<br>BASIN  | EACH | 5        | \$1,200.00  | \$6,000.00  | \$4,900.00  | \$24,500.00            | \$1,250.00  | \$6,250.00  |
| 47 GALVANIZED STEEL CATCH BASIN LID   | EACH | 1        | \$500.00    | \$500.00    | \$650.00    | \$650.00               | \$950.00    | \$950.00    |
| 48 PVC PIPE STORMWATER CLEANOUT   | EACH | 23       | \$750.00    | \$17,250.00 | \$190.00    | \$4,370.00             | \$450.00    | \$10,350.00 |
| 49 PRECAST CONCRETE HEADWALL FOR 8" PIPE  | EACH | 1        | \$500.00    | \$500.00    | \$2,000.00  | \$2,000.00             | \$1,000.00  | \$1,000.00  |
| 50 3" ELECTRICAL CONDUIT FROM<br>PREFABRICATED BUILDING TO<br>SAMPLING BASIN STRUCTURE              | L.F. | 530      | \$10.00     | \$5,300.00  | \$15.00     | \$7,950.00             | \$8.00      | \$4,240.00  |
| 51 NEW WHEEL STOPS  | EACH | 95       | \$50.00     | \$4,750.00  | \$35.00     | \$3,325.00             | \$60.00     | \$5,700.00  |
| 52 SIGNS INCLUDING POST AND FOOTING   | EACH | 2        | \$500.00    | \$1,000.00  | \$200.00    | \$400.00               | \$250.00    | \$500.00    |
| 53 PREFABRICATED 12'X22' BUILDING AND 2" ELECTRICAL CONDUIT FROM PULL BOX TO PREFABRICATED BUILDING | L.S. | 1        | \$10,000.00 | \$10,000.00 | \$10,600.00 | \$10,600.00            | \$18,000.00 | \$18,000.00 |
| 54 3.5' HIGH METAL RAILING  | L.F. | 55       | \$25.00     | \$1,375.00  | \$80.00     | \$4,400.00             | \$100.00    | \$5,500.00  |
| 55 CONNECTION TO EXISTING BUILDING  | EACH | 33       | \$1,000.00  | \$3,000.00  | \$600.00    | \$1,800.00             | \$500.00    | \$1,500.00  |
| ROOF DOWNDRAINS   | EACH | 3        | \$1,000.00  | \$3,000.00  | \$000.00    | \$1,000.00             | \$300.00    | φ1,300.00   |
| 56 ENHANCED GRASS SWALE   | L.S. | 1        | \$7,267.00  | \$7,267.00  | \$7,000.00  | \$7,000.00             | \$10,000.00 | \$10,000.00 |
| 57 ADJUST MANHOLE AND VAULT TO<br>GRADE   | EACH | 9        | \$650.00    | \$5,850.00  | \$825.00    | \$7,425.00             | \$500.00    | \$4,500.00  |

Project Number: 0-4-1027-00

Pite Potential Project Number: 0-4-1027-00

| <b>Bid Open Date:</b> 09/07/2010   |      |          | ENGINEER'S   | ESTIMATE     | ASR CONSTRUCTORS, INC. |              | YAKAR        |              |
|--|------|----------|--------------|--------------|------------------------|--------------|--------------|--------------|
| Item No. & Description   | Unit | Quantity | Unit Bid     | Total Bid    | Unit Bid               | Total Bid    | Unit Bid     | Total Bid    |
| 58 ADJUST VALVE AND CLEANOUT TO GRADE  | EACH | 13       | \$450.00     | \$5,850.00   | \$125.00               | \$1,625.00   | \$150.00     | \$1,950.00   |
| 59 COBBLE FILLED TRENCH  | L.F. | 430      | \$10.00      | \$4,300.00   | \$17.00                | \$7,310.00   | \$10.00      | \$4,300.00   |
| 60 4'X4' #2 STONE INFILTRATION TRENCH IN LAKE SMITHHAMMER  | L.F. | 220      | \$36.00      | \$7,920.00   | \$39.00                | \$8,580.00   | \$45.00      | \$9,900.00   |
| 61 #57 STONE IN LANDSCAPE FILTER BASIN<br>AND FLOW THROUGH PLANTERS  | C.Y. | 31       | \$60.00      | \$1,860.00   | \$74.00                | \$2,294.00   | \$65.00      | \$2,015.00   |
| 62 MIRAFI FW402 FILTER FABRIC  | S.F. | 7,570    | \$0.55       | \$4,163.50   | \$0.40                 | \$3,028.00   | \$1.00       | \$7,570.00   |
| 63 MIRAFI NT100 IMPERMEABLE BARRIER  | S.F. | 13,330   | \$0.60       | \$7,998.00   | \$0.85                 | \$11,330.50  | \$1.00       | \$13,330.00  |
| 64 #2 STONE ENERGY DISSIPATERS   | C.Y. | 1        | \$60.00      | \$60.00      | \$100.00               | \$100.00     | \$300.00     | \$300.00     |
| 65 DUST ABATEMENT  | L.S. | 1        | \$10,000.00  | \$10,000.00  | \$12,000.00            | \$12,000.00  | \$8,000.00   | \$8,000.00   |
| 66 STORMWATER AND NON-STORMWATER POLLUTION CONTROL   | L.S. | 1        | \$5,000.00   | \$5,000.00   | \$3,000.00             | \$3,000.00   | \$5,500.00   | \$5,500.00   |
| 67 NON-STORMWATER DISCHARGE OR DEWATERING  | L.S. | 1        | \$2,000.00   | \$2,000.00   | \$3,000.00             | \$3,000.00   | \$4,500.00   | \$4,500.00   |
| 68 REMOVAL AND REPLACEMENT OF<br>EXISTING UTILITIES AT NEW<br>LANDSCAPE FILTER BASIN   | L.F. | 360      | \$38.00      | \$13,680.00  | \$9.75                 | \$3,510.00   | \$25.00      | \$9,000.00   |
| 69 REMOVAL AND RELOCATION OF EXISTING IRRIGATION DOUBLE CHECK VALVE AND REMOVAL AND REPLACEMENT OF EXISTING 4-INCH WATERLINE | L.S. | 1        | \$10,000.00  | \$10,000.00  | \$4,630.00             | \$4,630.00   | \$10,000.00  | \$10,000.00  |
| 70 FILTRATION SOIL MIXTURE   | C.Y. | 90       | \$75.00      | \$6,750.00   | \$60.00                | \$5,400.00   | \$65.00      | \$5,850.00   |
| 71 IRRIGATION SYSTEM   | L.S. | 1        | \$259,900.00 | \$259,900.00 | \$168,000.00           | \$168,000.00 | \$275,000.00 | \$275,000.00 |
| 72 SOIL TESTING AND SOIL PREPARATION   | S.F. | 182,100  | \$0.28       | \$50,988.00  | \$0.14                 | \$25,494.00  | \$0.24       | \$43,704.00  |
| 73 MOW CURBING   | L.F. | 2,875    | \$11.00      | \$31,625.00  | \$3.50                 | \$10,062.50  | \$9.00       | \$25,875.00  |
| 74 WOOD CHIPS  | S.F. | 145,600  | \$0.36       | \$52,416.00  | \$0.20                 | \$29,120.00  | \$0.31       | \$45,136.00  |
| 75 DECOMPOSED GRANITE  | S.F. | 2,080    | \$3.50       | \$7,280.00   | \$1.00                 | \$2,080.00   | \$2.95       | \$6,136.00   |
| 76 CRUSHED ROCK  | S.F. | 2,100    | \$3.25       | \$6,825.00   | \$1.00                 | \$2,100.00   | \$2.50       | \$5,250.00   |
| 77 DRIVABLE GRASS  | S.F. | 785      | \$17.25      | \$13,541.25  | \$3.85                 | \$3,022.25   | \$12.00      | \$9,420.00   |
| 78 SYNTHETIC TURF  | S.F. | 315      | \$15.00      | \$4,725.00   | \$4.75                 | \$1,496.25   | \$18.00      | \$5,670.00   |
| 79 SOD   | S.F. | 36,500   | \$0.85       | \$31,025.00  | \$0.45                 | \$16,425.00  | \$1.25       | \$45,625.00  |

 Project Number:
 0-4-1027-00

 Bid Open Date:
 09/07/2010

| Bia Open Date: 09/07/2010   |                                      |                                  | ENGINEER'S ESTIMATE  |  | ASR CONSTRUCTORS,<br>INC.                                      |   | YAKAR  |  |
|---|--------------------------------------|----------------------------------|--|--|--|---|--|--|
| Item No. & Description<br>80 FLATS  | <i>Unit</i><br>EACH                  | Quantity<br>675                  | <i>Unit Bid</i> \$27.00  | <b>Total Bid</b> \$18,225.00   | <i>Unit Bid</i> \$33.00  | <b>Total Bid</b> \$22,275.00  | <i>Unit Bid</i><br>\$12.00                                     | <b>Total Bid</b> \$8,100.00  |
| 81 1-GALLON<br>82 2-GALLON<br>83 5-GALLON<br>84 15-GALLON<br>85 15-GALLON CITRUS  | EACH<br>EACH<br>EACH<br>EACH<br>EACH | 2,800<br>98<br>1,575<br>18<br>62 | \$6.25<br>\$11.00<br>\$15.75<br>\$150.00<br>\$88.00            | \$17,500.00<br>\$1,078.00<br>\$24,806.25<br>\$2,700.00<br>\$5,456.00 | \$5.20<br>\$14.60<br>\$11.35<br>\$75.00<br>\$106.50            | \$14,560.00<br>\$1,430.80<br>\$17,876.25<br>\$1,350.00<br>\$6,603.00  | \$5.00<br>\$10.00<br>\$13.00<br>\$85.00<br>\$80.00             | \$14,000.00<br>\$980.00<br>\$20,475.00<br>\$1,530.00<br>\$4,960.00     |
| 86 24" BOX<br>87 36" BOX<br>88 48" BOX<br>89 6' BROWN TRUNK PALM<br>90 TREE GRATE   | EACH<br>EACH<br>EACH<br>EACH<br>EACH | 138<br>7<br>1<br>2<br>2          | \$235.00<br>\$610.00<br>\$1,375.00<br>\$690.00<br>\$1,600.00   | \$32,430.00<br>\$4,270.00<br>\$1,375.00<br>\$1,380.00<br>\$3,200.00  | \$174.00<br>\$610.00<br>\$1,050.00<br>\$900.00<br>\$1,000.00   | \$24,012.00<br>\$4,270.00<br>\$1,050.00<br>\$1,800.00<br>\$2,000.00   | \$195.00<br>\$350.00<br>\$800.00<br>\$750.00<br>\$1,238.00     | \$26,910.00<br>\$2,450.00<br>\$800.00<br>\$1,500.00<br>\$2,476.00      |
| 91 PICNIC TABLE 92 WASTE CONTAINER 93 FOUNTAIN 94 FLAG POLE 95 CONCRETE POT #13   | EACH<br>EACH<br>EACH<br>EACH         | 5<br>9<br>1<br>2<br>4            | \$1,500.00<br>\$615.00<br>\$2,100.00<br>\$6,950.00<br>\$875.00 | \$7,500.00<br>\$5,535.00<br>\$2,100.00<br>\$13,900.00<br>\$3,500.00  | \$1,250.00<br>\$650.00<br>\$3,000.00<br>\$3,850.00<br>\$900.00 | \$6,250.00<br>\$5,850.00<br>\$3,000.00<br>\$7,700.00<br>\$3,600.00    | \$1,457.00<br>\$835.00<br>\$1,450.00<br>\$4,500.00<br>\$925.00 | \$7,285.00<br>\$7,515.00<br>\$1,450.00<br>\$9,000.00<br>\$3,700.00     |
| 96 CONCRETE POT #13A<br>97 CONCRETE POT #13B<br>98 CONCRETE BENCH #10<br>99 CONCRETE BENCH #15<br>100 LANDSCAPE MAINTENANCE   | EACH<br>EACH<br>EACH<br>EACH<br>L.S. | 8<br>4<br>8<br>6<br>1            | \$1,100.00<br>\$775.00<br>\$2,450.00<br>\$650.00<br>\$7,200.00 | \$8,800.00<br>\$3,100.00<br>\$19,600.00<br>\$3,900.00<br>\$7,200.00  | \$900.00<br>\$600.00<br>\$600.00<br>\$600.00<br>\$6,000.00     | \$7,200.00<br>\$2,400.00<br>\$4,800.00<br>\$3,600.00<br>\$6,000.00    | \$1,065.00<br>\$475.00<br>\$675.00<br>\$675.00<br>\$3,000.00   | \$8,520.00<br>\$1,900.00<br>\$5,400.00<br>\$4,050.00<br>\$3,000.00     |
| 101 ELECTRICAL LIGHTING FIXTURE A 102 ELECTRICAL LIGHTING FIXTURE B 103 ELECTRICAL LIGHTING FIXTURE C 104 ELECTRICAL LIGHTING FIXTURE D 105 ELECTRICAL LIGHTING FIXTURE E | EACH<br>EACH<br>EACH<br>EACH         | 24<br>2<br>5<br>9<br>4           | \$810.00<br>\$1,100.00<br>\$1,650.00<br>\$2,850.00<br>\$550.00 | \$19,440.00<br>\$2,200.00<br>\$8,250.00<br>\$25,650.00<br>\$2,200.00 | \$940.00<br>\$980.00<br>\$2,040.00<br>\$2,000.00<br>\$700.00   | \$22,560.00<br>\$1,960.00<br>\$10,200.00<br>\$18,000.00<br>\$2,800.00 | \$935.00<br>\$5,000.00<br>\$5,000.00<br>\$2,870.00<br>\$750.00 | \$22,440.00<br>\$10,000.00<br>\$25,000.00<br>\$25,830.00<br>\$3,000.00 |
| 106 ELECTRICAL CONDUIT AND WIRE   | L.F.                                 | 4,450                            | \$4.55   | \$20,247.50  | \$9.80   | \$43,610.00   | \$7.00   | \$31,150.00  |

\$3,013,402.50 \$2,439,489.30 \$2,573,018.91

Project Number: 0-4-1027-00
Pite Potential Project Number: 0-4-1027-00

| <b>Bid Open Date:</b> 09/07/2010   |  |                               | DELMAC CON<br>& DEVELOP   |  | BRAUGHTON CONSTRUCTION, INC.  |  | ENVIRONMENTAL CONSTRUCTION, INC.  |  |
|--|--|-------------------------------|---|--|---|--|---|--|
| Item No. & Description  1 MOBILIZATION  2 WATER CONTROL  3 TRAFFIC CONTROL  4 CLEARING AND MISCELLANEOUS WORK  5 EXTRA DIRECTED WORK   | Unit<br>L.S.<br>L.S.<br>L.S.<br>L.S.<br>L.S. | <b>Quantity</b> 1  1  1  1  1 | <i>Unit Bid</i> \$133,000.00 \$15,000.00 \$40,000.00 \$20,000.00 \$150,000.00 | <b>Total Bid</b> \$133,000.00 \$15,000.00 \$40,000.00 \$20,000.00 \$150,000.00 | Unit Bid<br>\$183,171.00<br>\$323.00<br>\$753.00<br>\$16,146.00<br>\$150,000.00 | <b>Total Bid</b> \$183,171.00 \$323.00 \$753.00 \$16,146.00 \$150,000.00 | <b>Unit Bid</b> \$34,000.00 \$2,000.00 \$7,000.00 \$315,878.00 \$150,000.00 | <b>Total Bid</b> \$34,000.00 \$2,000.00 \$7,000.00 \$315,878.00 \$150,000.00 |
| 6 EXCAVATION 7 TRENCH SAFETY SYSTEM 8 CLASS "A" CONCRETE, 3'X3' CLEANOUT STRUCTURE AND SAMPLING VAULT 9 CLASS "A" CONCRETE, TRANSITION STRUCTURE NO. 3 10 CLASS "A" CONCRETE, UNDER SIDEWALK DRAIN | C.Y.<br>L.S.<br>EACH<br>EACH                 | 7,230<br>1<br>9<br>3          | \$8.00<br>\$10,000.00<br>\$2,000.00<br>\$2,500.00<br>\$600.00                 | \$57,840.00<br>\$10,000.00<br>\$18,000.00<br>\$7,500.00<br>\$1,800.00          | \$34.45<br>\$538.00<br>\$1,534.00<br>\$500.00<br>\$2,583.00                     | \$249,073.50<br>\$538.00<br>\$13,806.00<br>\$1,500.00<br>\$7,749.00      | \$18.16<br>\$500.00<br>\$1,750.00<br>\$2,560.00<br>\$720.00                 | \$131,296.80<br>\$500.00<br>\$15,750.00<br>\$7,680.00<br>\$2,160.00          |
| 11 CLASS "A" CONCRETE, FOOTING AND CMU RAISED PLANTERS AND ENTRY SIGN WALLS  | L.F.   | 158                           | \$130.00  | \$20,540.00  | \$81.81   | \$12,925.98  | \$98.00   | \$15,484.00  |
| 12 CLASS "A" CONCRETE, CMU FLOW<br>THROUGH PLANTER WALLS   | L.F.   | 183                           | \$90.00   | \$16,470.00  | \$81.81   | \$14,971.23  | \$117.50  | \$21,502.50  |
| 13 CLASS "A" CONCRETE, LANDSCAPE FILTER BASIN RETAINING WALL   | C.Y.   | 48                            | \$350.00  | \$16,800.00  | \$112.13  | \$5,382.24   | \$805.00  | \$38,640.00  |
| <ul> <li>14 CLASS "A" CONCRETE, SAMPLING BASIN STRUCTURE</li> <li>15 CLASS "B" CONCRETE, CURB AND GUTTER (CD1, CD2, CD3, CD9)</li> </ul>   | EACH<br>L.F.                                 | 984                           | \$40,000.00<br>\$22.00  | \$40,000.00<br>\$21,648.00   | \$1,184.00<br>\$20.66   | \$1,184.00<br>\$20,329.44  | \$15,601.00<br>\$28.50  | \$15,601.00<br>\$28,044.00   |
| 16 CLASS "B" CONCRETE, STANDARD CURB<br>(CD4, CD5, CD6, CD7, CD8, CD24, CD26)  | L.F.   | 3,500                         | \$17.00   | \$59,500.00  | \$16.61   | \$58,135.00  | \$21.00   | \$73,500.00  |
| 17 CLASS "B" CONCRETE, DEEPENED CURB<br>(CD10, CD11, CD12, CD30, CD31)   | L.F.   | 5,250                         | \$50.00   | \$262,500.00   | \$48.77   | \$256,042.50   | \$28.60   | \$150,150.00   |
| 18 CLASS "B" CONCRETE, MISCELLANEOUS 19 CLASS "B" CONCRETE, PLANTER AND BUILDING SLABS 20 INSTALL DECORATIVE CONCRETE  | C.Y.<br>C.Y.                                 | 57<br>24                      | \$1,065.00<br>\$250.00<br>\$45,000.00   | \$60,705.00<br>\$6,000.00<br>\$45,000.00                                       | \$1,042.18<br>\$112.13<br>\$3,767.00  | \$59,404.26<br>\$2,691.12<br>\$3,767.00                                  | \$300.00<br>\$486.00<br>\$1,500.00  | \$17,100.00<br>\$11,664.00<br>\$1,500.00                                     |
| FLATWORK   | D.O.   | 1                             | ψπ2,000.00  | ψπ2,000.00   | ψ3,707.00   | ψ5,707.00  | Ψ1,500.00   | ψ1,500.00  |

Project Number: 0-4-1027-00
Page 7 of 25

| Bi   | d Open Date: 09/07/2010  |      |          |          | DELMAC CONSTRUCTION & DEVELOPMENT, INC. |          | BRAUGHTON CONSTRUCTION, INC. |          | ONMENTAL<br>UCTION, INC. |
|------|--|------|----------|----------|---|----------|------------------------------|----------|--------------------------|
| Item | No. & Description  | Unit | Quantity | Unit Bid | Total Bid                               | Unit Bid | Total Bid                    | Unit Bid | Total Bid                |
| 21   | REINFORCED CONCRETE PIPE   | L.F. | 200      | \$82.00  | \$16,400.00                             | \$43.06  | \$8,612.00                   | \$45.00  | \$9,000.00               |
| 22   | 3" CLASS 2 AGGREGATE BASE<br>DRIVEWAY AND ACCESS RAMP  | C.Y. | 10       | \$30.00  | \$300.00                                | \$107.64 | \$1,076.40                   | \$40.50  | \$405.00                 |
| 23   | PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 13" #2 STONE  | S.F. | 25,400   | \$7.00   | \$177,800.00                            | \$7.69   | \$195,326.00                 | \$9.00   | \$228,600.00             |
| 24   | PERVIOUS PAVERS OVER 2" #8 OVER<br>10-7/8" #57 STONE   | S.F. | 9,270    | \$7.00   | \$64,890.00                             | \$6.72   | \$62,294.40                  | \$8.10   | \$75,087.00              |
| 25   | PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 17" #2 STONE  | S.F. | 5,660    | \$7.00   | \$39,620.00                             | \$8.71   | \$49,298.60                  | \$6.44   | \$36,450.40              |
| 26   | PERVIOUS PAVERS OVER 1" #8 OVER 4"<br>#57 STONE  | S.F. | 1,184    | \$7.00   | \$8,288.00                              | \$6.34   | \$7,506.56                   | \$6.70   | \$7,932.80               |
| 27   | 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE<br>BARRIER   | S.F. | 2,360    | \$20.00  | \$47,200.00                             | \$19.27  | \$45,477.20                  | \$14.00  | \$33,040.00              |
| 28   | 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER | S.F. | 2,090    | \$54.00  | \$112,860.00                            | \$57.44  | \$120,049.60                 | \$15.75  | \$32,917.50              |
| 29   | 5" POROUS ASPHALT OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE<br>BARRIER  | S.F. | 2,270    | \$5.00   | \$11,350.00                             | \$5.77   | \$13,097.90                  | \$18.65  | \$42,335.50              |
| 30   | 5" POROUS ASPHALT OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER      | S.F. | 1,700    | \$10.00  | \$17,000.00                             | \$10.29  | \$17,493.00                  | \$53.70  | \$91,290.00              |
| 31   | 4" AC OVER 6" CLASS 2 AGGREGATE<br>BASE AND 4" AC OVER 11" CLASS 2<br>AGGREGATE BASE   | S.F. | 76,655   | \$2.00   | \$153,310.00                            | \$2.55   | \$195,470.25                 | \$2.70   | \$206,968.50             |
| 32   | VARIABLE DEPTH AC OVERLAY  | TONS | 31       | \$90.00  | \$2,790.00                              | \$121.25 | \$3,758.75                   | \$122.76 | \$3,805.56               |
|      | GRIND EXISTING AC PAVEMENT   | S.F. | 720      | \$3.75   | \$2,700.00                              | \$5.22   | \$3,758.40                   | \$3.85   | \$2,772.00               |
|      | SLURRY SEAL  | S.F. | 35,800   | \$0.25   | \$8,950.00                              | \$0.50   | \$17,900.00                  | \$0.37   | \$13,389.20              |
| 35   | BOLLARD  | EACH | 260      | \$225.00 | \$58,500.00                             | \$161.46 | \$41,979.60                  | \$165.00 | \$42,900.00              |
|      |  |      |          |          |   |          |                              | i        |                          |

Project Number: 0-4-1027-00

Rid Open Date: 09/07/2010

| <b>Bid Open Date:</b> 09/07/2010   |      |          | DELMAC CON<br>& DEVELOP |             |            | BRAUGHTON CONSTRUCTION, INC. |             | NMENTAL<br>ICTION, INC. |
|--|------|----------|-------------------------|-------------|------------|------------------------------|-------------|-------------------------|
| Item No. & Description   | Unit | Quantity | Unit Bid                | Total Bid   | Unit Bid   | Total Bid                    | Unit Bid    | Total Bid               |
| 36 4" PVC PIPE   | L.F. | 78       | \$10.00                 | \$780.00    | \$32.29    | \$2,518.62                   | \$15.00     | \$1,170.00              |
| 37 6" PVC PIPE   | L.F. | 2,126    | \$12.00                 | \$25,512.00 | \$37.67    | \$80,086.42                  | \$16.60     | \$35,291.60             |
| 38 8" PVC PIPE   | L.F. | 369      | \$16.00                 | \$5,904.00  | \$43.06    | \$15,889.14                  | \$25.50     | \$9,409.50              |
| 39 12" PVC PIPE  | L.F. | 314      | \$25.00                 | \$7,850.00  | \$48.44    | \$15,210.16                  | \$36.50     | \$11,461.00             |
| 40 18" PVC PIPE  | L.F. | 33       | \$60.00                 | \$1,980.00  | \$53.82    | \$1,776.06                   | \$50.00     | \$1,650.00              |
| 41 10" WIDE SLOTTED DRAIN  | L.F. | 177      | \$30.00                 | \$5,310.00  | \$188.37   | \$33,341.49                  | \$300.00    | \$53,100.00             |
| 42 PRECAST CONCRETE FLOW DETECTION CATCH BASIN   | EACH | 3        | \$1,500.00              | \$4,500.00  | \$5,382.10 | \$16,146.30                  | \$4,500.00  | \$13,500.00             |
| 43 9"X9" PLASTIC CATCH BASIN   | EACH | 7        | \$300.00                | \$2,100.00  | \$80.73    | \$565.11                     | \$100.00    | \$700.00                |
| 44 18"X18" PRECAST CONCRETE CATCH<br>BASIN   | EACH | 2        | \$1,000.00              | \$2,000.00  | \$1,345.52 | \$2,691.04                   | \$800.00    | \$1,600.00              |
| 45 24"X24" PRECAST CONCRETE CATCH<br>BASIN   | EACH | 1        | \$1,600.00              | \$1,600.00  | \$1,883.73 | \$1,883.73                   | \$1,150.00  | \$1,150.00              |
| 46 36"X36" PRECAST CONCRETE CATCH<br>BASIN   | EACH | 5        | \$2,500.00              | \$12,500.00 | \$3,229.26 | \$16,146.30                  | \$2,700.00  | \$13,500.00             |
| 47 GALVANIZED STEEL CATCH BASIN LID  | EACH | 1        | \$400.00                | \$400.00    | \$2,045.20 | \$2,045.20                   | \$1,500.00  | \$1,500.00              |
| 48 PVC PIPE STORMWATER CLEANOUT  | EACH | 23       | \$300.00                | \$6,900.00  | \$646.00   | \$14,858.00                  | \$250.00    | \$5,750.00              |
| 49 PRECAST CONCRETE HEADWALL FOR 8" PIPE   | EACH | 1        | \$500.00                | \$500.00    | \$3,229.26 | \$3,229.26                   | \$1,000.00  | \$1,000.00              |
| 50 3" ELECTRICAL CONDUIT FROM<br>PREFABRICATED BUILDING TO<br>SAMPLING BASIN STRUCTURE | L.F. | 530      | \$10.00                 | \$5,300.00  | \$16.15    | \$8,559.50                   | \$16.50     | \$8,745.00              |
| 51 NEW WHEEL STOPS   | EACH | 95       | \$30.00                 | \$2,850.00  | \$69.97    | \$6,647.15                   | \$49.50     | \$4,702.50              |
| 52 SIGNS INCLUDING POST AND FOOTING  | EACH | 2        | \$300.00                | \$600.00    | \$177.61   | \$355.22                     | \$192.50    | \$385.00                |
| 53 PREFABRICATED 12'X22' BUILDING AND 2" ELECTRICAL CONDUIT FROM PULL                  | L.S. | 1        | \$50,000.00             | \$50,000.00 | \$2,153.00 | \$2,153.00                   | \$20,477.00 | \$20,477.00             |
| BOX TO PREFABRICATED BUILDING  |      |          | **-                     |             |            |                              |             | ** = ** = *             |
| 54 3.5' HIGH METAL RAILING   | L.F. | 55       | \$97.00                 | \$5,335.00  | \$173.30   | \$9,531.50                   | \$177.10    | \$9,740.50              |
| 55 CONNECTION TO EXISTING BUILDING ROOF DOWNDRAINS                                     | EACH | 3        | \$300.00                | \$900.00    | \$358.81   | \$1,076.43                   | \$100.00    | \$300.00                |
| 56 ENHANCED GRASS SWALE  | L.S. | 1        | \$50,000.00             | \$50,000.00 | \$3,767.00 | \$3,767.00                   | \$3,834.00  | \$3,834.00              |
| 57 ADJUST MANHOLE AND VAULT TO   | EACH | 9        | \$400.00                | \$3,600.00  | \$484.39   | \$4,359.51                   | \$250.00    | \$2,250.00              |
| GRADE  |      |          |                         |             |            |                              |             |                         |

Page 8 of 25

Project Number: 0-4-1027-00

Rid Open Pate: 09/07/2010

| <b>Bid Open Date:</b> 09/07/2010   |      |          | DELMAC CON<br>& DEVELOP |   | BRAUC<br>CONSTRUC | GHTON<br>CTION, INC. |   | ONMENTAL<br>UCTION, INC. |
|--|------|----------|-------------------------|---|-------------------|----------------------|---|--------------------------|
| Item No. & Description   | Unit | Quantity | Unit Bid                | Total Bid                               | Unit Bid          | Total Bid            | Unit Bid                                | Total Bid                |
| 58 ADJUST VALVE AND CLEANOUT TO  | EACH | 13       | \$500.00                | \$6,500.00                              | \$26.91           | \$349.83             | \$200.00                                | \$2,600.00               |
| GRADE  |      |          | *******                 | ,                                       | *                 | ,                    | ,                                       | , ,                      |
| 59 COBBLE FILLED TRENCH  | L.F. | 430      | \$6.00                  | \$2,580.00                              | \$9.69            | \$4,166.70           | \$8.00                                  | \$3,440.00               |
| 60 4'X4' #2 STONE INFILTRATION TRENCH IN   | L.F. | 220      | \$30.00                 | \$6,600.00                              | \$75.35           | \$16,577.00          | \$54.75                                 | \$12,045.00              |
| LAKE SMITHHAMMER   |      |          |                         |   |                   |                      |   |                          |
| 61 #57 STONE IN LANDSCAPE FILTER BASIN   | C.Y. | 31       | \$50.00                 | \$1,550.00                              | \$94.72           | \$2,936.32           | \$42.00                                 | \$1,302.00               |
| AND FLOW THROUGH PLANTERS  |      |          |                         |   |                   |                      |   |                          |
| 62 MIRAFI FW402 FILTER FABRIC  | S.F. | 7,570    | \$0.30                  | \$2,271.00                              | \$0.30            | \$2,271.00           | \$0.50                                  | \$3,785.00               |
| 63 MIRAFI NT100 IMPERMEABLE BARRIER  | S.F. | 13,330   | \$1.50                  | \$19,995.00                             | \$0.71            | \$9,464.30           | \$1.30                                  | \$17,329.00              |
| 64 #2 STONE ENERGY DISSIPATERS   | C.Y. | 1        | \$50.00                 | \$50.00                                 | \$108.00          | \$108.00             | \$60.00                                 | \$60.00                  |
| 65 DUST ABATEMENT  | L.S. | 1        | \$20,000.00             | \$20,000.00                             | \$8,692.00        | \$8,692.00           | \$4,000.00                              | \$4,000.00               |
| 66 STORMWATER AND NON-STORMWATER POLLUTION CONTROL   | L.S. | 1        | \$5,000.00              | \$5,000.00                              | \$9,715.00        | \$9,715.00           | \$2,000.00                              | \$2,000.00               |
| 67 NON-STORMWATER DISCHARGE OR DEWATERING  | L.S. | 1        | \$5,000.00              | \$5,000.00                              | \$538.00          | \$538.00             | \$2,000.00                              | \$2,000.00               |
| 68 REMOVAL AND REPLACEMENT OF<br>EXISTING UTILITIES AT NEW<br>LANDSCAPE FILTER BASIN   | L.F. | 360      | \$25.00                 | \$9,000.00                              | \$37.67           | \$13,561.20          | \$12.00                                 | \$4,320.00               |
| 69 REMOVAL AND RELOCATION OF EXISTING IRRIGATION DOUBLE CHECK VALVE AND REMOVAL AND REPLACEMENT OF EXISTING 4-INCH WATERLINE | L.S. | 1        | \$4,000.00              | \$4,000.00                              | \$16,146.00       | \$16,146.00          | \$4,000.00                              | \$4,000.00               |
| 70 FILTRATION SOIL MIXTURE   | C.Y. | 90       | \$20.00                 | \$1,800.00                              | \$61.36           | \$5,522.40           | \$60.00                                 | \$5,400.00               |
| 71 IRRIGATION SYSTEM   | L.S. | 1        | \$253,000.00            | \$253,000.00                            | \$220,414.00      | \$220,414.00         | \$282,000.00                            | \$282,000.00             |
| 72 SOIL TESTING AND SOIL PREPARATION   | S.F. | 182,100  | \$0.14                  | \$25,494.00                             | \$0.27            | \$49,167.00          | \$0.22                                  | \$40,062.00              |
| 73 MOW CURBING   | L.F. | 2,875    | \$4.40                  | \$12,650.00                             | \$5.88            | \$16,905.00          | \$13.00                                 | \$37,375.00              |
| 74 WOOD CHIPS  | S.F. | 145,600  | \$0.43                  | \$62,608.00                             | \$0.35            | \$50,960.00          | \$0.40                                  | \$58,240.00              |
| 75 DECOMPOSED GRANITE  | S.F. | 2,080    | \$1.60                  | \$3,328.00                              | \$1.65            | \$3,432.00           | \$1.85                                  | \$3,848.00               |
| 76 CRUSHED ROCK  | S.F. | 2,100    | \$2.37                  | \$4,977.00                              | \$2.32            | \$4,872.00           | \$0.50                                  | \$1,050.00               |
| 77 DRIVABLE GRASS  | S.F. | 785      | \$2.37<br>\$5.41        | \$4,246.85                              | \$8.46            | \$6,641.10           | \$9.60                                  | \$7,536.00               |
| 77 DRIVABLE GRASS 78 SYNTHETIC TURF  | S.F. | 315      | \$13.20                 | \$4,158.00                              | \$30.24           | \$9,525.60           | \$16.00                                 | \$5,040.00               |
| 79 SOD   | S.F. | 36,500   | \$0.53                  | \$19,345.00                             | \$0.54            | \$19,710.00          | \$0.65                                  | \$23,725.00              |
| ~ ~ ~  | ·-·  | ,        | 42.22                   | , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | 4 2 . 2 .         | , - ,                | I + + + + + + + + + + + + + + + + + + + | · - · · · ·              |

Project Number: 0-4-1027-00

Rid Open Pate: 09/07/2010

| <b>Bid Open Date:</b> 09/07/2010  |                     |                 | DELMAC CONSTRUCTION & DEVELOPMENT, INC. |                              | BRAUGHTON CONSTRUCTION, INC. |                              | ENVIRONMENTAL CONSTRUCTION, INC. |                              |
|---|---------------------|-----------------|---|------------------------------|------------------------------|------------------------------|----------------------------------|------------------------------|
| Item No. & Description 80 FLATS   | <i>Unit</i><br>EACH | Quantity<br>675 | <b>Unit Bid</b><br>\$17.60              | <b>Total Bid</b> \$11,880.00 | <b>Unit Bid</b> \$22.55      | <b>Total Bid</b> \$15,221.25 | <b>Unit Bid</b><br>\$17.00       | <b>Total Bid</b> \$11,475.00 |
| 81 1-GALLON   | EACH                | 2,800           | \$5.23                                  | \$14,644.00                  | \$6.65                       | \$18,620.00                  | \$6.25                           | \$17,500.00                  |
| 82 2-GALLON   | EACH                | 98              | \$13.20                                 | \$1,293.60                   | \$14.88                      | \$1,458.24                   | \$16.00                          | \$1,568.00                   |
| 83 5-GALLON   | EACH                | 1,575           | \$20.90                                 | \$32,917.50                  | \$18.00                      | \$28,350.00                  | \$14.00                          | \$22,050.00                  |
| 84 15-GALLON  | EACH                | 18              | \$71.50                                 | \$1,287.00                   | \$99.45                      | \$1,790.10                   | \$80.00                          | \$1,440.00                   |
| 85 15-GALLON CITRUS   | EACH                | 62              | \$88.00                                 | \$5,456.00                   | \$172.11                     | \$10,670.82                  | \$125.00                         | \$7,750.00                   |
| 86 24" BOX  | EACH                | 138             | \$137.50                                | \$18,975.00                  | \$247.38                     | \$34,138.44                  | \$195.00                         | \$26,910.00                  |
| 87 36" BOX  | EACH                | 7               | \$385.00                                | \$2,695.00                   | \$551.13                     | \$3,857.91                   | \$475.00                         | \$3,325.00                   |
| 88 48" BOX  | EACH                | 1               | \$1,210.00                              | \$1,210.00                   | \$1,195.90                   | \$1,195.90                   | \$1,050.00                       | \$1,050.00                   |
| 89 6' BROWN TRUNK PALM  | EACH                | 2               | \$528.00                                | \$1,056.00                   | \$837.45                     | \$1,674.90                   | \$1,000.00                       | \$2,000.00                   |
| 90 TREE GRATE   | EACH                | 2               | \$1,300.00                              | \$2,600.00                   | \$3,286.85                   | \$6,573.70                   | \$1,320.00                       | \$2,640.00                   |
| 91 PICNIC TABLE 92 WASTE CONTAINER 93 FOUNTAIN 94 FLAG POLE 95 CONCRETE POT #13   | EACH                | 5               | \$1,143.00                              | \$5,715.00                   | \$1,612.69                   | \$8,063.45                   | \$1,867.50                       | \$9,337.50                   |
|   | EACH                | 9               | \$576.00                                | \$5,184.00                   | \$833.03                     | \$7,497.27                   | \$859.50                         | \$7,735.50                   |
|   | EACH                | 1               | \$3,000.00                              | \$3,000.00                   | \$2,080.73                   | \$2,080.73                   | \$1,957.50                       | \$1,957.50                   |
|   | EACH                | 2               | \$2,143.00                              | \$4,286.00                   | \$4,984.36                   | \$9,968.72                   | \$5,244.00                       | \$10,488.00                  |
|   | EACH                | 4               | \$758.00                                | \$3,032.00                   | \$1,076.69                   | \$4,306.76                   | \$1,129.50                       | \$4,518.00                   |
| 96 CONCRETE POT #13A 97 CONCRETE POT #13B 98 CONCRETE BENCH #10 99 CONCRETE BENCH #15 100 LANDSCAPE MAINTENANCE   | EACH                | 8               | \$800.00                                | \$6,400.00                   | \$1,127.95                   | \$9,023.60                   | \$1,189.50                       | \$9,516.00                   |
|   | EACH                | 4               | \$325.00                                | \$1,300.00                   | \$509.95                     | \$2,039.80                   | \$484.50                         | \$1,938.00                   |
|   | EACH                | 8               | \$448.00                                | \$3,584.00                   | \$695.64                     | \$5,565.12                   | \$675.00                         | \$5,400.00                   |
|   | EACH                | 6               | \$448.00                                | \$2,688.00                   | \$709.00                     | \$4,254.00                   | \$675.00                         | \$4,050.00                   |
|   | L.S.                | 1               | \$6,010.00                              | \$6,010.00                   | \$4,938.00                   | \$4,938.00                   | \$4,000.00                       | \$4,000.00                   |
| 101 ELECTRICAL LIGHTING FIXTURE A 102 ELECTRICAL LIGHTING FIXTURE B 103 ELECTRICAL LIGHTING FIXTURE C 104 ELECTRICAL LIGHTING FIXTURE D 105 ELECTRICAL LIGHTING FIXTURE E | EACH                | 24              | \$1,089.00                              | \$26,136.00                  | \$1,237.88                   | \$29,709.12                  | \$1,265.00                       | \$30,360.00                  |
|   | EACH                | 2               | \$1,100.00                              | \$2,200.00                   | \$1,237.88                   | \$2,475.76                   | \$1,265.00                       | \$2,530.00                   |
|   | EACH                | 5               | \$3,245.00                              | \$16,225.00                  | \$2,755.63                   | \$13,778.15                  | \$2,816.00                       | \$14,080.00                  |
|   | EACH                | 9               | \$3,245.00                              | \$29,205.00                  | \$2,992.45                   | \$26,932.05                  | \$3,058.00                       | \$27,522.00                  |
|   | EACH                | 4               | \$1,100.00                              | \$4,400.00                   | \$1,200.21                   | \$4,800.84                   | \$1,226.50                       | \$4,906.00                   |
| 106 ELECTRICAL CONDUIT AND WIRE   | L.F.                | 4,450           | \$10.00                                 | \$44,500.00                  | \$13.00                      | \$57,850.00                  | \$13.20                          | \$58,740.00                  |

\$2,652,713.95 \$2,872,336.15 \$2,883,503.36

Project Number: 0-4-1027-00

Page 11 of 25

| <b>Bid Open Date:</b> 09/07/2010   |  |                                  | RIVER<br>CONSTR   |  | STRONGHOLD ENGINEERING, INC.   |   | 4-CON ENGINEERING, INC.  |  |
|--|--|----------------------------------|---|--|--|---|--|--|
| Item No. & Description  1 MOBILIZATION  2 WATER CONTROL  3 TRAFFIC CONTROL  4 CLEARING AND MISCELLANEOUS WORK  5 EXTRA DIRECTED WORK   | Unit<br>L.S.<br>L.S.<br>L.S.<br>L.S.<br>L.S. | <b>Quantity</b> 1  1  1  1  1  1 | <i>Unit Bid</i> \$170,000.00 \$2,500.00 \$35,000.00 \$265,000.00 \$150,000.00 | <b>Total Bid</b> \$170,000.00 \$2,500.00 \$35,000.00 \$265,000.00 \$150,000.00 | Unit Bid<br>\$150,000.00<br>\$10,000.00<br>\$20,000.00<br>\$281,000.00<br>\$150,000.00 | <b>Total Bid</b> \$150,000.00 \$10,000.00 \$20,000.00 \$281,000.00 \$150,000.00 | **Unit Bid \$300,000.00 \$1,500.00 \$10,000.00 \$120,000.00 \$150,000.00 | <b>Total Bid</b> \$300,000.00 \$1,500.00 \$10,000.00 \$120,000.00 \$150,000.00 |
| <ul> <li>6 EXCAVATION</li> <li>7 TRENCH SAFETY SYSTEM</li> <li>8 CLASS "A" CONCRETE, 3'X3' CLEANOUT<br/>STRUCTURE AND SAMPLING VAULT</li> <li>9 CLASS "A" CONCRETE, TRANSITION<br/>STRUCTURE NO. 3</li> <li>10 CLASS "A" CONCRETE, UNDER<br/>SIDEWALK DRAIN</li> </ul> | C.Y.<br>L.S.<br>EACH<br>EACH                 | 7,230<br>1<br>9<br>3<br>3        | \$20.00<br>\$500.00<br>\$3,500.00<br>\$1,200.00<br>\$1,200.00                 | \$144,600.00<br>\$500.00<br>\$31,500.00<br>\$3,600.00<br>\$3,600.00            | \$40.00<br>\$8,500.00<br>\$5,900.00<br>\$750.00<br>\$3,200.00                          | \$289,200.00<br>\$8,500.00<br>\$53,100.00<br>\$2,250.00<br>\$9,600.00           | \$52.00<br>\$2,000.00<br>\$2,000.00<br>\$2,000.00<br>\$2,500.00          | \$375,960.00<br>\$2,000.00<br>\$18,000.00<br>\$6,000.00<br>\$7,500.00          |
| 11 CLASS "A" CONCRETE, FOOTING AND<br>CMU RAISED PLANTERS AND ENTRY<br>SIGN WALLS  | L.F.   | 158                              | \$110.00  | \$17,380.00  | \$160.00   | \$25,280.00   | \$175.00   | \$27,650.00  |
| 12 CLASS "A" CONCRETE, CMU FLOW<br>THROUGH PLANTER WALLS   | L.F.   | 183                              | \$95.00   | \$17,385.00  | \$137.00   | \$25,071.00   | \$175.00   | \$32,025.00  |
| 13 CLASS "A" CONCRETE, LANDSCAPE<br>FILTER BASIN RETAINING WALL  | C.Y.   | 48                               | \$650.00  | \$31,200.00  | \$583.00   | \$27,984.00   | \$425.00   | \$20,400.00  |
| 14 CLASS "A" CONCRETE, SAMPLING BASIN STRUCTURE  | EACH   | 1                                | \$15,000.00   | \$15,000.00  | \$4,300.00   | \$4,300.00  | \$4,500.00   | \$4,500.00   |
| 15 CLASS "B" CONCRETE, CURB AND GUTTER (CD1, CD2, CD3, CD9)  | L.F.   | 984                              | \$17.00   | \$16,728.00  | \$33.00  | \$32,472.00   | \$25.00  | \$24,600.00  |
| 16 CLASS "B" CONCRETE, STANDARD CURB (CD4, CD5, CD6, CD7, CD8, CD24, CD26)   | L.F.   | 3,500                            | \$15.00   | \$52,500.00  | \$18.00  | \$63,000.00   | \$12.00  | \$42,000.00  |
| 17 CLASS "B" CONCRETE, DEEPENED CURB<br>(CD10, CD11, CD12, CD30, CD31)   | L.F.   | 5,250                            | \$28.00   | \$147,000.00   | \$30.00  | \$157,500.00  | \$32.00  | \$168,000.00   |
| 18 CLASS "B" CONCRETE, MISCELLANEOUS   | C.Y.   | 57                               | \$580.00  | \$33,060.00  | \$480.00   | \$27,360.00   | \$270.00   | \$15,390.00  |
| <ul> <li>19 CLASS "B" CONCRETE, PLANTER AND BUILDING SLABS</li> <li>20 INSTALL DECORATIVE CONCRETE FLATWORK</li> </ul>   | C.Y.   | 1                                | \$500.00<br>\$5,000.00  | \$12,000.00<br>\$5,000.00  | \$450.00<br>\$2,700.00   | \$10,800.00<br>\$2,700.00   | \$415.00<br>\$3,500.00   | \$9,960.00<br>\$3,500.00   |

Project Number: 0-4-1027-00
Page 12 of 25

| Bio | d Open Date: 09/07/2010  |                     |               |                         | RIVERSIDE<br>CONSTRUCTION    |                            | STRONGHOLD<br>ENGINEERING, INC. |                          | INEERING, INC.               |
|-----|--|---------------------|---------------|-------------------------|------------------------------|----------------------------|---------------------------------|--------------------------|------------------------------|
|     | <i>No. &amp; Description</i><br>REINFORCED CONCRETE PIPE   | <i>Unit</i><br>L.F. | Quantity 200  | <i>Unit Bid</i> \$85.00 | <b>Total Bid</b> \$17,000.00 | <b>Unit Bid</b><br>\$85.00 | <b>Total Bid</b> \$17,000.00    | <i>Unit Bid</i> \$125.00 | <b>Total Bid</b> \$25,000.00 |
|     | 3" CLASS 2 AGGREGATE BASE<br>DRIVEWAY AND ACCESS RAMP  | C.Y.                | 10            | \$220.00                | \$2,200.00                   | \$120.00                   | \$1,200.00                      | \$75.00                  | \$750.00                     |
|     | PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 13" #2 STONE  | S.F.                | 25,400        | \$7.50                  | \$190,500.00                 | \$8.70                     | \$220,980.00                    | \$8.00                   | \$203,200.00                 |
|     | PERVIOUS PAVERS OVER 2" #8 OVER<br>10-7/8" #57 STONE   | S.F.                | 9,270         | \$6.50                  | \$60,255.00                  | \$7.00                     | \$64,890.00                     | \$7.00                   | \$64,890.00                  |
|     | PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 17" #2 STONE  | S.F.                | 5,660         | \$8.50                  | \$48,110.00                  | \$10.00                    | \$56,600.00                     | \$9.00                   | \$50,940.00                  |
|     | PERVIOUS PAVERS OVER 1" #8 OVER 4" #57 STONE   | S.F.                | 1,184         | \$6.00                  | \$7,104.00                   | \$7.50                     | \$8,880.00                      | \$6.50                   | \$7,696.00                   |
| 27  | 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE<br>BARRIER   | S.F.                | 2,360         | \$14.00                 | \$33,040.00                  | \$19.00                    | \$44,840.00                     | \$15.00                  | \$35,400.00                  |
| 28  | 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER | S.F.                | 2,090         | \$18.00                 | \$37,620.00                  | \$23.50                    | \$49,115.00                     | \$19.00                  | \$39,710.00                  |
|     | 5" POROUS ASPHALT OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE<br>BARRIER  | S.F.                | 2,270         | \$13.00                 | \$29,510.00                  | \$10.00                    | \$22,700.00                     | \$13.00                  | \$29,510.00                  |
| 30  | 5" POROUS ASPHALT OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER      | S.F.                | 1,700         | \$20.00                 | \$34,000.00                  | \$14.40                    | \$24,480.00                     | \$17.00                  | \$28,900.00                  |
| 31  | 4" AC OVER 6" CLASS 2 AGGREGATE<br>BASE AND 4" AC OVER 11" CLASS 2<br>AGGREGATE BASE   | S.F.                | 76,655        | \$4.00                  | \$306,620.00                 | \$2.70                     | \$206,968.50                    | \$3.00                   | \$229,965.00                 |
|     | VARIABLE DEPTH AC OVERLAY<br>GRIND EXISTING AC PAVEMENT  | TONS<br>S.F.        | 31<br>720     | \$135.00<br>\$4.00      | \$4,185.00<br>\$2,880.00     | \$130.00<br>\$5.60         | \$4,030.00<br>\$4,032.00        | \$90.00<br>\$6.00        | \$2,790.00<br>\$4,320.00     |
| 34  | SLURRY SEAL<br>BOLLARD   | S.F.<br>EACH        | 35,800<br>260 | \$0.30<br>\$150.00      | \$10,740.00<br>\$39,000.00   | \$0.50<br>\$172.00         | \$17,900.00<br>\$44,720.00      | \$0.50<br>\$175.00       | \$17,900.00<br>\$45,500.00   |

Project Number: 0-4-1027-00
Page 13 of 25

| <b>Bid Open Date:</b> 09/07/2010  |       |          | RIVERS<br>CONSTRU |             | STRONO<br>ENGINEEI |             | 4-CON ENGI  | NEERING, INC. |
|---|-------|----------|-------------------|-------------|--------------------|-------------|-------------|---------------|
| Item No. & Description  | Unit  | Quantity | Unit Bid          | Total Bid   | Unit Bid           | Total Bid   | Unit Bid    | Total Bid     |
| 36 4" PVC PIPE  | L.F.  | 78       | \$12.00           | \$936.00    | \$11.00            | \$858.00    | \$12.00     | \$936.00      |
| 37 6" PVC PIPE  | L.F.  | 2,126    | \$20.00           | \$42,520.00 | \$11.00            | \$23,386.00 | \$15.00     | \$31,890.00   |
| 38 8" PVC PIPE  | L.F.  | 369      | \$30.00           | \$11,070.00 | \$30.00            | \$11,070.00 | \$25.00     | \$9,225.00    |
| 39 12" PVC PIPE   | L.F.  | 314      | \$50.00           | \$15,700.00 | \$50.00            | \$15,700.00 | \$50.00     | \$15,700.00   |
| 40 18" PVC PIPE   | L.F.  | 33       | \$95.00           | \$3,135.00  | \$70.00            | \$2,310.00  | \$75.00     | \$2,475.00    |
| 41 10" WIDE SLOTTED DRAIN   | L.F.  | 177      | \$150.00          | \$26,550.00 | \$225.00           | \$39,825.00 | \$130.00    | \$23,010.00   |
| 42 PRECAST CONCRETE FLOW DETECTION CATCH BASIN  | EACH  | 3        | \$850.00          | \$2,550.00  | \$700.00           | \$2,100.00  | \$400.00    | \$1,200.00    |
| 43 9"X9" PLASTIC CATCH BASIN  | EACH  | 7        | \$475.00          | \$3,325.00  | \$200.00           | \$1,400.00  | \$250.00    | \$1,750.00    |
| 44 18"X18" PRECAST CONCRETE CATCH<br>BASIN  | EACH  | 2        | \$1,350.00        | \$2,700.00  | \$1,800.00         | \$3,600.00  | \$1,500.00  | \$3,000.00    |
| 45 24"X24" PRECAST CONCRETE CATCH<br>BASIN  | EACH  | 1        | \$1,500.00        | \$1,500.00  | \$1,700.00         | \$1,700.00  | \$2,000.00  | \$2,000.00    |
| 46 36"X36" PRECAST CONCRETE CATCH<br>BASIN  | EACH  | 5        | \$2,500.00        | \$12,500.00 | \$2,200.00         | \$11,000.00 | \$3,000.00  | \$15,000.00   |
| 47 GALVANIZED STEEL CATCH BASIN LID   | EACH  | 1        | \$350.00          | \$350.00    | \$1,000.00         | \$1,000.00  | \$600.00    | \$600.00      |
| 48 PVC PIPE STORMWATER CLEANOUT   | EACH  | 23       | \$850.00          | \$19,550.00 | \$300.00           | \$6,900.00  | \$325.00    | \$7,475.00    |
| 49 PRECAST CONCRETE HEADWALL FOR 8" PIPE  | EACH  | 1        | \$500.00          | \$500.00    | \$1,200.00         | \$1,200.00  | \$2,800.00  | \$2,800.00    |
| 50 3" ELECTRICAL CONDUIT FROM<br>PREFABRICATED BUILDING TO<br>SAMPLING BASIN STRUCTURE              | L.F.  | 530      | \$15.00           | \$7,950.00  | \$15.00            | \$7,950.00  | \$12.00     | \$6,360.00    |
| 51 NEW WHEEL STOPS  | EACH  | 95       | \$35.00           | \$3,325.00  | \$40.00            | \$3,800.00  | \$30.00     | \$2,850.00    |
| 52 SIGNS INCLUDING POST AND FOOTING   | EACH  | 2        | \$750.00          | \$1,500.00  | \$300.00           | \$600.00    | \$175.00    | \$350.00      |
| 53 PREFABRICATED 12'X22' BUILDING AND 2" ELECTRICAL CONDUIT FROM PULL BOX TO PREFABRICATED BUILDING | L.S.  | 1        | \$10,000.00       | \$10,000.00 | \$19,000.00        | \$19,000.00 | \$15,000.00 | \$15,000.00   |
| 54 3.5' HIGH METAL RAILING  | L.F.  | 55       | \$100.00          | \$5,500.00  | \$185.00           | \$10,175.00 | \$180.00    | \$9,900.00    |
| 55 CONNECTION TO EXISTING BUILDING  | EACH  | 3        | \$850.00          | \$2,550.00  | \$520.00           | \$1,560.00  | \$350.00    | \$1,050.00    |
| ROOF DOWNDRAINS   | LACII | 3        | ψοσο.σο           | Ψ2,330.00   | ψ320.00            | φ1,500.00   | ψ330.00     | ψ1,020.00     |
| 56 ENHANCED GRASS SWALE   | L.S.  | 1        | \$10,000.00       | \$10,000.00 | \$4,700.00         | \$4,700.00  | \$20,000.00 | \$20,000.00   |
| 57 ADJUST MANHOLE AND VAULT TO<br>GRADE   | EACH  | 9        | \$550.00          | \$4,950.00  | \$1,050.00         | \$9,450.00  | \$550.00    | \$4,950.00    |

Project Number: 0-4-1027-00

Rid Open Pate: 09/07/2010

| Bid O          | Open Date: 09/07/2010   |      |          | RIVER<br>CONSTRI |              |              | GHOLD<br>RING, INC. | 4-CON ENGI   | INEERING, INC. |
|----------------|---|------|----------|------------------|--------------|--------------|---------------------|--------------|----------------|
| Item No        | o. & Description  | Unit | Quantity | Unit Bid         | Total Bid    | Unit Bid     | Total Bid           | Unit Bid     | Total Bid      |
|                | DJUST VALVE AND CLEANOUT TO<br>RADE   | EACH | 13       | \$150.00         | \$1,950.00   | \$260.00     | \$3,380.00          | \$150.00     | \$1,950.00     |
| 59 C           | OBBLE FILLED TRENCH   | L.F. | 430      | \$20.00          | \$8,600.00   | \$16.00      | \$6,880.00          | \$10.00      | \$4,300.00     |
|                | X4' #2 STONE INFILTRATION TRENCH IN<br>AKE SMITHHAMMER  | L.F. | 220      | \$55.00          | \$12,100.00  | \$42.00      | \$9,240.00          | \$50.00      | \$11,000.00    |
|                | 57 STONE IN LANDSCAPE FILTER BASIN<br>ND FLOW THROUGH PLANTERS  | C.Y. | 31       | \$85.00          | \$2,635.00   | \$70.00      | \$2,170.00          | \$85.00      | \$2,635.00     |
| 62 M           | IIRAFI FW402 FILTER FABRIC  | S.F. | 7,570    | \$0.25           | \$1,892.50   | \$0.70       | \$5,299.00          | \$1.00       | \$7,570.00     |
|                | IIRAFI NT100 IMPERMEABLE BARRIER  | S.F. | 13,330   | \$0.65           | \$8,664.50   | \$1.50       | \$19,995.00         | \$1.50       | \$19,995.00    |
|                | 2 STONE ENERGY DISSIPATERS  | C.Y. | 1        | \$500.00         | \$500.00     | \$120.00     | \$120.00            | \$500.00     | \$500.00       |
| 65 D           | UST ABATEMENT   | L.S. | 1        | \$15,000.00      | \$15,000.00  | \$9,500.00   | \$9,500.00          | \$10,000.00  | \$10,000.00    |
|                | TORMWATER AND NON-STORMWATER OLLUTION CONTROL   | L.S. | 1        | \$25,000.00      | \$25,000.00  | \$14,700.00  | \$14,700.00         | \$12,000.00  | \$12,000.00    |
|                | ON-STORMWATER DISCHARGE OR<br>EWATERING   | L.S. | 1        | \$1.00           | \$1.00       | \$6,000.00   | \$6,000.00          | \$1,000.00   | \$1,000.00     |
| EZ<br>La       | EMOVAL AND REPLACEMENT OF<br>XISTING UTILITIES AT NEW<br>ANDSCAPE FILTER BASIN  | L.F. | 360      | \$30.00          | \$10,800.00  | \$16.00      | \$5,760.00          | \$50.00      | \$18,000.00    |
| EZ<br>V.<br>Rl | EMOVAL AND RELOCATION OF XISTING IRRIGATION DOUBLE CHECK ALVE AND REMOVAL AND EPLACEMENT OF EXISTING 4-INCH VATERLINE | L.S. | 1        | \$8,500.00       | \$8,500.00   | \$3,800.00   | \$3,800.00          | \$12,000.00  | \$12,000.00    |
| 70 FI          | ILTRATION SOIL MIXTURE  | C.Y. | 90       | \$85.00          | \$7,650.00   | \$64.00      | \$5,760.00          | \$75.00      | \$6,750.00     |
|                | RRIGATION SYSTEM  | L.S. | 1        | \$275,000.00     | \$275,000.00 | \$271,000.00 | \$271,000.00        | \$275,000.00 | \$275,000.00   |
|                | OIL TESTING AND SOIL PREPARATION  | S.F. | 182,100  | \$0.20           | \$36,420.00  | \$0.14       | \$25,494.00         | \$0.15       | \$27,315.00    |
|                | IOW CURBING   | L.F. | 2,875    | \$8.00           | \$23,000.00  | \$4.50       | \$12,937.50         | \$9.00       | \$25,875.00    |
|                | OOD CHIPS   | S.F. | 145,600  | \$0.20           | \$29,120.00  | \$0.44       | \$64,064.00         | \$0.25       | \$36,400.00    |
| 75 D           | ECOMPOSED GRANITE   | S.F. | 2,080    | \$7.00           | \$14,560.00  | \$1.30       | \$2,704.00          | \$1.50       | \$3,120.00     |
| 76 Cl          | RUSHED ROCK   | S.F. | 2,100    | \$7.00           | \$14,700.00  | \$2.00       | \$4,200.00          | \$1.75       | \$3,675.00     |
|                | RIVABLE GRASS   | S.F. | 785      | \$10.00          | \$7,850.00   | \$5.60       | \$4,396.00          | \$6.50       | \$5,102.50     |
|                | YNTHETIC TURF   | S.F. | 315      | \$10.00          | \$3,150.00   | \$14.00      | \$4,410.00          | \$13.00      | \$4,095.00     |
| 79 SC          | OD  | S.F. | 36,500   | \$0.50           | \$18,250.00  | \$0.60       | \$21,900.00         | \$0.70       | \$25,550.00    |

Project Number: 0-4-1027-00

Page 15 of 25

Bid Open Date: 09/07/2010

| <b>Bid Open Date:</b> 09/07/2010  |                     |                 | RIVERS<br>CONSTRU          |                              | STRONO<br>ENGINEEI         |                              | 4-CON ENGI                 | NEERING, INC.                |
|---|---------------------|-----------------|----------------------------|------------------------------|----------------------------|------------------------------|----------------------------|------------------------------|
| Item No. & Description<br>80 FLATS  | <i>Unit</i><br>EACH | Quantity<br>675 | <b>Unit Bid</b><br>\$16.00 | <b>Total Bid</b> \$10,800.00 | <i>Unit Bid</i><br>\$18.00 | <i>Total Bid</i> \$12,150.00 | <i>Unit Bid</i><br>\$28.00 | <b>Total Bid</b> \$18,900.00 |
| 81 1-GALLON   | EACH                | 2,800           | \$6.00                     | \$16,800.00                  | \$5.40                     | \$15,120.00                  | \$6.00                     | \$16,800.00                  |
| 82 2-GALLON   | EACH                | 98              | \$15.00                    | \$1,470.00                   | \$19.00                    | \$1,862.00                   | \$10.00                    | \$980.00                     |
| 83 5-GALLON   | EACH                | 1,575           | \$13.00                    | \$20,475.00                  | \$15.00                    | \$23,625.00                  | \$16.00                    | \$25,200.00                  |
| 84 15-GALLON  | EACH                | 18              | \$73.00                    | \$1,314.00                   | \$75.00                    | \$1,350.00                   | \$100.00                   | \$1,800.00                   |
| 85 15-GALLON CITRUS   | EACH                | 62              | \$125.00                   | \$7,750.00                   | \$100.00                   | \$6,200.00                   | \$140.00                   | \$8,680.00                   |
| 86 24" BOX  | EACH                | 138             | \$185.00                   | \$25,530.00                  | \$150.00                   | \$20,700.00                  | \$200.00                   | \$27,600.00                  |
| 87 36" BOX  | EACH                | 7               | \$425.00                   | \$2,975.00                   | \$550.00                   | \$3,850.00                   | \$550.00                   | \$3,850.00                   |
| 88 48" BOX  | EACH                | 1               | \$995.00                   | \$995.00                     | \$1,500.00                 | \$1,500.00                   | \$1,500.00                 | \$1,500.00                   |
| 89 6' BROWN TRUNK PALM  | EACH                | 2               | \$910.00                   | \$1,820.00                   | \$1,100.00                 | \$2,200.00                   | \$1,200.00                 | \$2,400.00                   |
| 90 TREE GRATE   | EACH                | 2               | \$1,250.00                 | \$2,500.00                   | \$1,300.00                 | \$2,600.00                   | \$1,500.00                 | \$3,000.00                   |
| 91 PICNIC TABLE 92 WASTE CONTAINER 93 FOUNTAIN 94 FLAG POLE 95 CONCRETE POT #13   | EACH                | 5               | \$1,600.00                 | \$8,000.00                   | \$1,300.00                 | \$6,500.00                   | \$1,400.00                 | \$7,000.00                   |
|   | EACH                | 9               | \$850.00                   | \$7,650.00                   | \$660.00                   | \$5,940.00                   | \$725.00                   | \$6,525.00                   |
|   | EACH                | 1               | \$3,800.00                 | \$3,800.00                   | \$860.00                   | \$860.00                     | \$2,200.00                 | \$2,200.00                   |
|   | EACH                | 2               | \$5,700.00                 | \$11,400.00                  | \$2,060.00                 | \$4,120.00                   | \$5,200.00                 | \$10,400.00                  |
|   | EACH                | 4               | \$950.00                   | \$3,800.00                   | \$870.00                   | \$3,480.00                   | \$1,100.00                 | \$4,400.00                   |
| 96 CONCRETE POT #13A 97 CONCRETE POT #13B 98 CONCRETE BENCH #10 99 CONCRETE BENCH #15 100 LANDSCAPE MAINTENANCE   | EACH                | 8               | \$1,000.00                 | \$8,000.00                   | \$920.00                   | \$7,360.00                   | \$950.00                   | \$7,600.00                   |
|   | EACH                | 4               | \$500.00                   | \$2,000.00                   | \$400.00                   | \$1,600.00                   | \$600.00                   | \$2,400.00                   |
|   | EACH                | 8               | \$600.00                   | \$4,800.00                   | \$500.00                   | \$4,000.00                   | \$650.00                   | \$5,200.00                   |
|   | EACH                | 6               | \$600.00                   | \$3,600.00                   | \$500.00                   | \$3,000.00                   | \$650.00                   | \$3,900.00                   |
|   | L.S.                | 1               | \$6,500.00                 | \$6,500.00                   | \$6,000.00                 | \$6,000.00                   | \$6,000.00                 | \$6,000.00                   |
| 101 ELECTRICAL LIGHTING FIXTURE A 102 ELECTRICAL LIGHTING FIXTURE B 103 ELECTRICAL LIGHTING FIXTURE C 104 ELECTRICAL LIGHTING FIXTURE D 105 ELECTRICAL LIGHTING FIXTURE E | EACH                | 24              | \$1,150.00                 | \$27,600.00                  | \$1,200.00                 | \$28,800.00                  | \$1,400.00                 | \$33,600.00                  |
|   | EACH                | 2               | \$1,150.00                 | \$2,300.00                   | \$1,500.00                 | \$3,000.00                   | \$1,400.00                 | \$2,800.00                   |
|   | EACH                | 5               | \$2,600.00                 | \$13,000.00                  | \$3,500.00                 | \$17,500.00                  | \$2,500.00                 | \$12,500.00                  |
|   | EACH                | 9               | \$2,800.00                 | \$25,200.00                  | \$3,500.00                 | \$31,500.00                  | \$4,200.00                 | \$37,800.00                  |
|   | EACH                | 4               | \$1,100.00                 | \$4,400.00                   | \$1,000.00                 | \$4,000.00                   | \$1,200.00                 | \$4,800.00                   |
| 106 ELECTRICAL CONDUIT AND WIRE   | L.F.                | 4,450           | \$12.00                    | \$53,400.00                  | \$14.00                    | \$62,300.00                  | \$16.00                    | \$71,200.00                  |

\$2,968,200.00 \$3,102,563.00 \$3,145,844.50

Project Number: 0-4-1027-00

Rid Open Date: 09/07/2010

| <b>Bid Open Date:</b> 09/07/2010   |  |                                  | COOLEY CON<br>IN   |   | MALLCE   | RAFT, INC.  | CORPO   | ONTRACTORS ORATED dba  |
|--|--|----------------------------------|--|---|--|---|---|--|
| Item No. & Description  1 MOBILIZATION 2 WATER CONTROL 3 TRAFFIC CONTROL 4 CLEARING AND MISCELLANEOUS WORK 5 EXTRA DIRECTED WORK   | Unit<br>L.S.<br>L.S.<br>L.S.<br>L.S.<br>L.S. | <b>Quantity</b> 1  1  1  1  1  1 | <i>Unit Bid</i> \$296,126.00 \$30,000.00 \$45,000.00 \$226,000.00 \$150,000.00 | <b>Total Bid</b> \$296,126.00 \$30,000.00 \$45,000.00 \$226,000.00 \$150,000.00 | Unit Bid<br>\$100,000.00<br>\$100,000.00<br>\$5,750.00<br>\$200,000.00<br>\$150,000.00 | Total Bid<br>\$100,000.00<br>\$100,000.00<br>\$5,750.00<br>\$200,000.00<br>\$150,000.00 | Unit Bid \$220,000.00 \$20,000.00 \$15,000.00 \$1,838,000.00 \$150,000.00 | \$220,000.00<br>\$20,000.00<br>\$15,000.00<br>\$1,838,000.00<br>\$150,000.00 |
| <ul> <li>6 EXCAVATION</li> <li>7 TRENCH SAFETY SYSTEM</li> <li>8 CLASS "A" CONCRETE, 3'X3' CLEANOUT<br/>STRUCTURE AND SAMPLING VAULT</li> <li>9 CLASS "A" CONCRETE, TRANSITION<br/>STRUCTURE NO. 3</li> <li>10 CLASS "A" CONCRETE, UNDER<br/>SIDEWALK DRAIN</li> </ul> | C.Y.<br>L.S.<br>EACH<br>EACH                 | 7,230<br>1<br>9<br>3             | \$27.30<br>\$1,670.00<br>\$3,200.00<br>\$2,430.00<br>\$2,770.00                | \$197,379.00<br>\$1,670.00<br>\$28,800.00<br>\$7,290.00<br>\$8,310.00           | \$17.25<br>\$1,150.00<br>\$1,610.00<br>\$1,800.00<br>\$2,760.00                        | \$124,717.50<br>\$1,150.00<br>\$14,490.00<br>\$5,400.00<br>\$8,280.00                   | \$10.00<br>\$5,000.00<br>\$300.00<br>\$750.00<br>\$1,000.00               | \$72,300.00<br>\$5,000.00<br>\$2,700.00<br>\$2,250.00<br>\$3,000.00          |
| <ul> <li>11 CLASS "A" CONCRETE, FOOTING AND CMU RAISED PLANTERS AND ENTRY SIGN WALLS</li> <li>12 CLASS "A" CONCRETE, CMU FLOW THROUGH PLANTER WALLS</li> </ul>   | L.F.   | 158                              | \$250.00<br>\$250.00   | \$39,500.00<br>\$45,750.00  | \$109.25<br>\$109.25   | \$17,261.50<br>\$19,992.75  | \$100.00<br>\$95.00   | \$15,800.00<br>\$17,385.00   |
| <ul> <li>13 CLASS "A" CONCRETE, LANDSCAPE FILTER BASIN RETAINING WALL</li> <li>14 CLASS "A" CONCRETE, SAMPLING BASIN STRUCTURE</li> <li>15 CLASS "B" CONCRETE, CURB AND GUTTER (CD1, CD2, CD3, CD9)</li> </ul>   | C.Y.<br>EACH<br>L.F.                         | 48<br>1<br>984                   | \$620.00<br>\$21,000.00<br>\$14.50   | \$29,760.00<br>\$21,000.00<br>\$14,268.00                                       | \$460.00<br>\$10,000.00<br>\$22.08   | \$22,080.00<br>\$10,000.00<br>\$21,726.72   | \$300.00<br>\$1,800.00<br>\$9.00  | \$14,400.00<br>\$1,800.00<br>\$8,856.00                                      |
| <ul> <li>16 CLASS "B" CONCRETE, STANDARD CURB (CD4, CD5, CD6, CD7, CD8, CD24, CD26)</li> <li>17 CLASS "B" CONCRETE, DEEPENED CURB (CD10, CD11, CD12, CD30, CD31)</li> <li>18 CLASS "B" CONCRETE, MISCELLANEOUS</li> <li>19 CLASS "B" CONCRETE, PLANTER AND</li> </ul>  | L.F.<br>L.F.<br>C.Y.<br>C.Y.                 | 3,500<br>5,250<br>57<br>24       | \$10.00<br>\$10.70<br>\$670.00<br>\$830.00                                     | \$35,000.00<br>\$56,175.00<br>\$38,190.00<br>\$19,920.00                        | \$17.74<br>\$52.11<br>\$1,113.42<br>\$460.00   | \$62,090.00<br>\$273,577.50<br>\$63,464.94<br>\$11,040.00                               | \$5.00<br>\$6.00<br>\$350.00<br>\$400.00                                  | \$17,500.00<br>\$31,500.00<br>\$19,950.00<br>\$9,600.00                      |
| BUILDING SLABS 20 INSTALL DECORATIVE CONCRETE FLATWORK   | L.S.   | 1                                | \$10,800.00  | \$10,800.00   | \$40,000.00  | \$40,000.00   | \$4,500.00  | \$4,500.00   |

**Project Number:** 0-4-1027-00 Page 17 of 25

|      | oject Number: 0-4-102/-00  |      |          |             |              |          |              |          | · ·                     |
|------|--|------|----------|-------------|--------------|----------|--------------|----------|-------------------------|
| Bi   | d Open Date: 09/07/2010  |      | (        | COOLEY CONS |              | MALLCR   | AFT, INC.    | CORPO    | ONTRACTORS<br>RATED dba |
| Item | No. & Description  | Unit | Quantity | Unit Bid    | Total Bid    | Unit Bid | Total Bid    | Unit Bid | AWNAN<br>Total Bid      |
|      | REINFORCED CONCRETE PIPE   | L.F. | 200      | \$130.00    | \$26,000.00  | \$92.00  | \$18,400.00  | \$75.00  | \$15,000.00             |
| 22   | 3" CLASS 2 AGGREGATE BASE<br>DRIVEWAY AND ACCESS RAMP  | C.Y. | 10       | \$178.00    | \$1,780.00   | \$143.75 | \$1,437.50   | \$200.00 | \$2,000.00              |
| 23   | PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 13" #2 STONE  | S.F. | 25,400   | \$7.90      | \$200,660.00 | \$10.98  | \$278,892.00 | \$5.00   | \$127,000.00            |
| 24   | PERVIOUS PAVERS OVER 2" #8 OVER<br>10-7/8" #57 STONE   | S.F. | 9,270    | \$7.00      | \$64,890.00  | \$10.98  | \$101,784.60 | \$5.50   | \$50,985.00             |
| 25   | PERVIOUS PAVERS OVER 2" #8 OVER 3"<br>#57 OVER 17" #2 STONE  | S.F. | 5,660    | \$9.60      | \$54,336.00  | \$10.98  | \$62,146.80  | \$5.75   | \$32,545.00             |
| 26   | PERVIOUS PAVERS OVER 1" #8 OVER 4"<br>#57 STONE  | S.F. | 1,184    | \$7.50      | \$8,880.00   | \$10.98  | \$13,000.32  | \$4.00   | \$4,736.00              |
| 27   | 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE<br>BARRIER   | S.F. | 2,360    | \$12.70     | \$29,972.00  | \$13.80  | \$32,568.00  | \$5.00   | \$11,800.00             |
| 28   | 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER | S.F. | 2,090    | \$13.70     | \$28,633.00  | \$14.95  | \$31,245.50  | \$6.00   | \$12,540.00             |
| 29   | 5" POROUS ASPHALT OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE<br>BARRIER  | S.F. | 2,270    | \$7.50      | \$17,025.00  | \$13.80  | \$31,326.00  | \$4.00   | \$9,080.00              |
| 30   | 5" POROUS ASPHALT OVER 25" #57<br>STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC<br>OVER IMPERMEABLE COMPOSITE<br>BARRIER      | S.F. | 1,700    | \$9.30      | \$15,810.00  | \$15.00  | \$25,500.00  | \$4.25   | \$7,225.00              |
| 31   | 4" AC OVER 6" CLASS 2 AGGREGATE<br>BASE AND 4" AC OVER 11" CLASS 2<br>AGGREGATE BASE   | S.F. | 76,655   | \$3.45      | \$264,459.75 | \$3.68   | \$282,090.40 | \$1.25   | \$95,818.75             |
| 32   | VARIABLE DEPTH AC OVERLAY  | TONS | 31       | \$96.00     | \$2,976.00   | \$78.20  | \$2,424.20   | \$180.00 | \$5,580.00              |
| 33   | GRIND EXISTING AC PAVEMENT   | S.F. | 720      | \$3.80      | \$2,736.00   | \$6.04   | \$4,348.80   | \$3.00   | \$2,160.00              |
| 34   | SLURRY SEAL  | S.F. | 35,800   | \$0.27      | \$9,666.00   | \$0.17   | \$6,086.00   | \$0.15   | \$5,370.00              |
| 35   | BOLLARD  | EACH | 260      | \$220.00    | \$57,200.00  | \$149.50 | \$38,870.00  | \$75.00  | \$19,500.00             |
|      |  |      |          |             |              |          |              | <b> </b> |                         |

Project Number: 0-4-1027-00

| <b>Bid Open Date:</b> 09/07/2010   |      |          | COOLEY CONS |                   | MALLCR       | AFT, INC.    | CORPOR     | NTRACTORS<br>RATED dba |
|--|------|----------|-------------|-------------------|--------------|--------------|------------|------------------------|
| Item No. & Description   | Unit | Quantity | Unit Bid    | Total Bid         | Unit Bid     | Total Bid    | Unit Bid   | WNAN<br>Total Bid      |
| 36 4" PVC PIPE   | L.F. | 78       | \$24.00     | \$1,872.00        | \$40.00      | \$3,120.00   | \$25.00    | \$1,950.00             |
| 37 6" PVC PIPE   | L.F. | 2,126    | \$24.00     | \$51,024.00       | \$46.00      | \$97,796.00  | \$12.00    | \$25,512.00            |
| 38 8" PVC PIPE   | L.F. | 369      | \$26.60     | \$9,815.40        | \$63.25      | \$23,339.25  | \$15.00    | \$5,535.00             |
| 39 12" PVC PIPE  | L.F. | 314      | \$38.00     | \$11,932.00       | \$138.00     | \$43,332.00  | \$25.00    | \$7,850.00             |
| 40 18" PVC PIPE  | L.F. | 33       | \$63.00     | \$2,079.00        | \$172.50     | \$5,692.50   | \$35.00    | \$1,155.00             |
| 41 10" WIDE SLOTTED DRAIN  | L.F. | 177      | \$220.00    | \$38,940.00       | \$207.00     | \$36,639.00  | \$25.00    | \$4,425.00             |
| 42 PRECAST CONCRETE FLOW DETECTION CATCH BASIN   | EACH | 3        | \$1,270.00  | \$3,810.00        | \$1,090.00   | \$3,270.00   | \$800.00   | \$2,400.00             |
| 43 9"X9" PLASTIC CATCH BASIN   | EACH | 7        | \$160.00    | \$1,120.00        | \$230.00     | \$1,610.00   | \$200.00   | \$1,400.00             |
| 44 18"X18" PRECAST CONCRETE CATCH<br>BASIN   | EACH | 2        | \$2,700.00  | \$5,400.00        | \$805.00     | \$1,610.00   | \$750.00   | \$1,500.00             |
| 45 24"X24" PRECAST CONCRETE CATCH<br>BASIN   | EACH | 1        | \$2,900.00  | \$2,900.00        | \$1,090.00   | \$1,090.00   | \$1,000.00 | \$1,000.00             |
| 46 36"X36" PRECAST CONCRETE CATCH<br>BASIN   | EACH | 5        | \$3,430.00  | \$17,150.00       | \$1,500.00   | \$7,500.00   | \$1,200.00 | \$6,000.00             |
| 47 GALVANIZED STEEL CATCH BASIN LID  | EACH | 1        | \$580.00    | \$580.00          | \$977.50     | \$977.50     | \$300.00   | \$300.00               |
| 48 PVC PIPE STORMWATER CLEANOUT  | EACH | 23       | \$390.00    | \$8,970.00        | \$575.00     | \$13,225.00  | \$200.00   | \$4,600.00             |
| 49 PRECAST CONCRETE HEADWALL FOR 8" PIPE   | EACH | 1        | \$1,490.00  | \$1,490.00        | \$4,830.00   | \$4,830.00   | \$500.00   | \$500.00               |
| 50 3" ELECTRICAL CONDUIT FROM<br>PREFABRICATED BUILDING TO<br>SAMPLING BASIN STRUCTURE | L.F. | 530      | \$10.00     | \$5,300.00        | \$15.24      | \$8,077.20   | \$10.00    | \$5,300.00             |
| 51 NEW WHEEL STOPS   | EACH | 95       | \$66.00     | \$6,270.00        | \$120.75     | \$11,471.25  | \$40.00    | \$3,800.00             |
| 52 SIGNS INCLUDING POST AND FOOTING  | EACH | 2        | \$248.00    | \$496.00          | \$402.50     | \$805.00     | \$200.00   | \$400.00               |
| 53 PREFABRICATED 12'X22' BUILDING AND 2" ELECTRICAL CONDUIT FROM PULL                  | L.S. | 1        | \$15,000.00 | \$15,000.00       | \$14,620.00  | \$14,620.00  | \$9,500.00 | \$9,500.00             |
| BOX TO PREFABRICATED BUILDING  |      |          | <b>***</b>  | <b>440.450.00</b> |              | 010.100.00   |            | <b>4.10.5</b> 00       |
| 54 3.5' HIGH METAL RAILING   | L.F. | 55       | \$330.00    | \$18,150.00       | \$184.00     | \$10,120.00  | \$75.00    | \$4,125.00             |
| 55 CONNECTION TO EXISTING BUILDING ROOF DOWNDRAINS                                     | EACH | 3        | \$1,330.00  | \$3,990.00        | \$74.75      | \$224.25     | \$30.00    | \$90.00                |
| 56 ENHANCED GRASS SWALE  | L.S. | 1        | \$10,900.00 | \$10,900.00       | \$100,000.00 | \$100,000.00 | \$3,000.00 | \$3,000.00             |
| 57 ADJUST MANHOLE AND VAULT TO GRADE   | EACH | 9        | \$1,330.00  | \$11,970.00       | \$747.50     | \$6,727.50   | \$300.00   | \$2,700.00             |

Page 18 of 25

**Project Number:** 0-4-1027-00 Page 19

| <b>Bid Open Date:</b> 09/07/2010   |      |          | COOLEY CONS  |              | MALLCR       | AFT, INC.    | CORPO        | ONTRACTORS<br>RATED dba |
|--|------|----------|--------------|--------------|--------------|--------------|--------------|-------------------------|
| Item No. & Description   | Unit | Quantity | Unit Bid     | Total Bid    | Unit Bid     | Total Bid    | Unit Bid     | AWNAN<br>Total Bid      |
| 58 ADJUST VALVE AND CLEANOUT TO GRADE  | EACH | 13       | \$220.00     | \$2,860.00   | \$517.50     | \$6,727.50   | \$325.00     | \$4,225.00              |
| 59 COBBLE FILLED TRENCH  | L.F. | 430      | \$18.40      | \$7,912.00   | \$10.35      | \$4,450.50   | \$10.00      | \$4,300.00              |
| 60 4'X4' #2 STONE INFILTRATION TRENCH IN LAKE SMITHHAMMER  | L.F. | 220      | \$78.00      | \$17,160.00  | \$80.50      | \$17,710.00  | \$50.00      | \$11,000.00             |
| 61 #57 STONE IN LANDSCAPE FILTER BASIN<br>AND FLOW THROUGH PLANTERS  | C.Y. | 31       | \$220.00     | \$6,820.00   | \$101.20     | \$3,137.20   | \$75.00      | \$2,325.00              |
| 62 MIRAFI FW402 FILTER FABRIC  | S.F. | 7,570    | \$0.90       | \$6,813.00   | \$0.38       | \$2,876.60   | \$0.10       | \$757.00                |
| 63 MIRAFI NT100 IMPERMEABLE BARRIER  | S.F. | 13,330   | \$1.53       | \$20,394.90  | \$1.35       | \$17,995.50  | \$0.12       | \$1,599.60              |
| 64 #2 STONE ENERGY DISSIPATERS   | C.Y. | 1        | \$290.00     | \$290.00     | \$115.00     | \$115.00     | \$200.00     | \$200.00                |
| 65 DUST ABATEMENT  | L.S. | 1        | \$17,200.00  | \$17,200.00  | \$11,500.00  | \$11,500.00  | \$20,000.00  | \$20,000.00             |
| 66 STORMWATER AND NON-STORMWATER POLLUTION CONTROL   | L.S. | 1        | \$55,000.00  | \$55,000.00  | \$23,000.00  | \$23,000.00  | \$20,000.00  | \$20,000.00             |
| 67 NON-STORMWATER DISCHARGE OR DEWATERING  | L.S. | 1        | \$25,000.00  | \$25,000.00  | \$5,750.00   | \$5,750.00   | \$10,000.00  | \$10,000.00             |
| 68 REMOVAL AND REPLACEMENT OF<br>EXISTING UTILITIES AT NEW<br>LANDSCAPE FILTER BASIN   | L.F. | 360      | \$27.70      | \$9,972.00   | \$34.50      | \$12,420.00  | \$10.00      | \$3,600.00              |
| 69 REMOVAL AND RELOCATION OF EXISTING IRRIGATION DOUBLE CHECK VALVE AND REMOVAL AND REPLACEMENT OF EXISTING 4-INCH WATERLINE | L.S. | 1        | \$5,300.00   | \$5,300.00   | \$5,180.00   | \$5,180.00   | \$5,000.00   | \$5,000.00              |
| 70 FILTRATION SOIL MIXTURE   | C.Y. | 90       | \$42.00      | \$3,780.00   | \$65.55      | \$5,899.50   | \$40.00      | \$3,600.00              |
| 71 IRRIGATION SYSTEM   | L.S. | 1        | \$274,000.00 | \$274,000.00 | \$241,500.00 | \$241,500.00 | \$225,000.00 | \$225,000.00            |
| 72 SOIL TESTING AND SOIL PREPARATION   | S.F. | 182,100  | \$0.15       | \$27,315.00  | \$0.29       | \$52,809.00  | \$0.15       | \$27,315.00             |
| 73 MOW CURBING   | L.F. | 2,875    | \$12.80      | \$36,800.00  | \$6.28       | \$18,055.00  | \$9.00       | \$25,875.00             |
| 74 WOOD CHIPS  | S.F. | 145,600  | \$0.32       | \$46,592.00  | \$0.38       | \$55,328.00  | \$0.10       | \$14,560.00             |
| 75 DECOMPOSED GRANITE  | S.F. | 2,080    | \$0.87       | \$1,809.60   | \$1.76       | \$3,660.80   | \$0.50       | \$1,040.00              |
| 76 CRUSHED ROCK  | S.F. | 2,100    | \$1.80       | \$3,780.00   | \$2.48       | \$5,208.00   | \$1.00       | \$2,100.00              |
| 77 DRIVABLE GRASS  | S.F. | 785      | \$2.14       | \$1,679.90   | \$9.04       | \$7,096.40   | \$5.00       | \$3,925.00              |
| 78 SYNTHETIC TURF  | S.F. | 315      | \$17.00      | \$5,355.00   | \$32.32      | \$10,180.80  | \$19.00      | \$5,985.00              |
| 79 SOD   | S.F. | 36,500   | \$0.62       | \$22,630.00  | \$0.58       | \$21,170.00  | \$0.35       | \$12,775.00             |

Page 19 of 25

Project Number: 0-4-1027-00

Page 20 of 25

Bid Open Date: 09/07/2010

| <b>Bid Open Date:</b> 09/07/2010  |                              | •                     | COOLEY CONS<br>INC   |  | MALLCR   | AFT, INC.   | CORPO  | NTRACTORS<br>RATED dba   |
|---|------------------------------|-----------------------|--|--|--|---|--|--|
| Item No. & Description<br>80 FLATS  | <i>Unit</i><br>EACH          | Quantity 675          | <i>Unit Bid</i> \$13.80  | <b>Total Bid</b> \$9,315.00                                      | <i>Unit Bid</i> \$24.09  | <b>Total Bid</b> \$16,260.75  | Unit Bid<br>\$10.00  | <b>AWNAN</b> <i>Fotal Bid</i> \$6,750.00                           |
| 81 1-GALLON   | EACH                         | 2,800                 | \$8.90   | \$24,920.00  | \$7.11   | \$19,908.00   | \$4.00   | \$11,200.00  |
| 82 2-GALLON   | EACH                         | 98                    | \$13.20  | \$1,293.60   | \$15.90  | \$1,558.20  | \$10.00  | \$980.00   |
| 83 5-GALLON   | EACH                         | 1,575                 | \$14.40  | \$22,680.00  | \$19.34  | \$30,460.50   | \$9.00   | \$14,175.00  |
| 84 15-GALLON  | EACH                         | 18                    | \$77.00  | \$1,386.00   | \$106.34   | \$1,914.12  | \$60.00  | \$1,080.00   |
| 85 15-GALLON CITRUS   | EACH                         | 62                    | \$140.00   | \$8,680.00   | \$183.89   | \$11,401.18   | \$100.00   | \$6,200.00   |
| <ul> <li>86 24" BOX</li> <li>87 36" BOX</li> <li>88 48" BOX</li> <li>89 6' BROWN TRUNK PALM</li> <li>90 TREE GRATE</li> </ul>   | EACH                         | 138                   | \$220.00   | \$30,360.00  | \$264.29   | \$36,472.02   | \$150.00   | \$20,700.00  |
|   | EACH                         | 7                     | \$390.00   | \$2,730.00   | \$588.81   | \$4,121.67  | \$375.00   | \$2,625.00   |
|   | EACH                         | 1                     | \$870.00   | \$870.00   | \$1,280.00   | \$1,280.00  | \$700.00   | \$700.00   |
|   | EACH                         | 2                     | \$156.00   | \$312.00   | \$894.93   | \$1,789.86  | \$800.00   | \$1,600.00   |
|   | EACH                         | 2                     | \$1,010.00   | \$2,020.00   | \$1,440.00   | \$2,880.00  | \$700.00   | \$1,400.00   |
| 91 PICNIC TABLE 92 WASTE CONTAINER 93 FOUNTAIN 94 FLAG POLE 95 CONCRETE POT #13   | EACH<br>EACH<br>EACH<br>EACH | 5<br>9<br>1<br>2<br>4 | \$1,770.00<br>\$980.00<br>\$570.00<br>\$2,570.00<br>\$1,000.00 | \$8,850.00<br>\$8,820.00<br>\$570.00<br>\$5,140.00<br>\$4,000.00 | \$1,420.00<br>\$776.25<br>\$2,070.00<br>\$5,150.00<br>\$977.50 | \$7,100.00<br>\$6,986.25<br>\$2,070.00<br>\$10,300.00<br>\$3,910.00 | \$700.00<br>\$500.00<br>\$1,000.00<br>\$1,200.00<br>\$900.00 | \$3,500.00<br>\$4,500.00<br>\$1,000.00<br>\$2,400.00<br>\$3,600.00 |
| 96 CONCRETE POT #13A 97 CONCRETE POT #13B 98 CONCRETE BENCH #10 99 CONCRETE BENCH #15 100 LANDSCAPE MAINTENANCE   | EACH                         | 8                     | \$1,000.00   | \$8,000.00   | \$1,020.00   | \$8,160.00  | \$900.00   | \$7,200.00   |
|   | EACH                         | 4                     | \$780.00   | \$3,120.00   | \$488.75   | \$1,955.00  | \$400.00   | \$1,600.00   |
|   | EACH                         | 8                     | \$890.00   | \$7,120.00   | \$626.75   | \$5,014.00  | \$500.00   | \$4,000.00   |
|   | EACH                         | 6                     | \$890.00   | \$5,340.00   | \$626.75   | \$3,760.50  | \$375.00   | \$2,250.00   |
|   | L.S.                         | 1                     | \$10,000.00  | \$10,000.00  | \$5,270.00   | \$5,270.00  | \$4,000.00   | \$4,000.00   |
| 101 ELECTRICAL LIGHTING FIXTURE A 102 ELECTRICAL LIGHTING FIXTURE B 103 ELECTRICAL LIGHTING FIXTURE C 104 ELECTRICAL LIGHTING FIXTURE D 105 ELECTRICAL LIGHTING FIXTURE E | EACH                         | 24                    | \$1,220.00   | \$29,280.00  | \$1,397.25   | \$33,534.00   | \$900.00   | \$21,600.00  |
|   | EACH                         | 2                     | \$1,330.00   | \$2,660.00   | \$1,440.00   | \$2,880.00  | \$800.00   | \$1,600.00   |
|   | EACH                         | 5                     | \$2,330.00   | \$11,650.00  | \$3,000.00   | \$15,000.00   | \$2,000.00   | \$10,000.00  |
|   | EACH                         | 9                     | \$3,900.00   | \$35,100.00  | \$4,030.00   | \$36,270.00   | \$3,000.00   | \$27,000.00  |
|   | EACH                         | 4                     | \$1,100.00   | \$4,400.00   | \$994.75   | \$3,979.00  | \$400.00   | \$1,600.00   |
| 106 ELECTRICAL CONDUIT AND WIRE   | L.F.                         | 4,450                 | \$19.40  | \$86,330.00  | \$21.56  | \$95,942.00   | \$13.00  | \$57,850.00  |

\$3,248,530.15 \$3,479,164.33 \$3,590,214.35

**Project Number:** 0-4-1027-00 Page 21 of 25

| Bid Open Date: | 09/07/2010 | MINAKO AMERICA  |
|----------------|------------|-----------------|
|                |            | CORPORATION dba |

|      |  |      |          | CORPORA               |                        |
|------|--|------|----------|-----------------------|------------------------|
| Item | No. & Description  | Unit | Quantity | MINCO CON<br>Unit Bid | STRUCTION<br>Total Bid |
|      | MOBILIZATION   | L.S. | 1        | \$100,000.00          | \$100,000.00           |
|      | WATER CONTROL  | L.S. | 1        | \$25,000.00           | \$25,000.00            |
| 3    | TRAFFIC CONTROL  | L.S. | 1        | \$25,000.00           | \$25,000.00            |
| 4    | CLEARING AND MISCELLANEOUS WORK                              | L.S. | 1        | \$100,000.00          | \$100,000.00           |
| 5    | EXTRA DIRECTED WORK  | L.S. | 1        | \$150,000.00          | \$150,000.00           |
| 6    | EXCAVATION   | C.Y. | 7,230    | \$25.00               | \$180,750.00           |
|      | TRENCH SAFETY SYSTEM   | L.S. | 1        | \$50,000.00           | \$50,000.00            |
| 8    | CLASS "A" CONCRETE, 3'X3' CLEANOUT                           | EACH | 9        | \$5,000.00            | \$45,000.00            |
| 9    | STRUCTURE AND SAMPLING VAULT CLASS "A" CONCRETE, TRANSITION  | EACH | 3        | \$5,000.00            | \$15,000.00            |
| 10   | STRUCTURE NO. 3 CLASS "A" CONCRETE, UNDER                    | EACH | 3        | \$1,000.00            | \$3,000.00             |
|      | SIDEWALK DRAIN   |      |          |                       |                        |
| 11   | CLASS "A" CONCRETE, FOOTING AND                              | L.F. | 158      | \$100.00              | \$15,800.00            |
|      | CMU RAISED PLANTERS AND ENTRY<br>SIGN WALLS                  |      |          |                       |                        |
| 12   | CLASS "A" CONCRETE, CMU FLOW                                 | L.F. | 183      | \$50.00               | \$9,150.00             |
| 1.0  | THROUGH PLANTER WALLS  | 0.17 | 40       | <b>#1</b> 000 00      | <b># 40 000 00</b>     |
| 13   | CLASS "A" CONCRETE, LANDSCAPE<br>FILTER BASIN RETAINING WALL | C.Y. | 48       | \$1,000.00            | \$48,000.00            |
| 14   | CLASS "A" CONCRETE, SAMPLING BASIN                           | EACH | 1        | \$25,000.00           | \$25,000.00            |
|      | STRUCTURE  |      |          |                       |                        |
| 15   | CLASS "B" CONCRETE, CURB AND                                 | L.F. | 984      | \$100.00              | \$98,400.00            |
|      | GUTTER (CD1, CD2, CD3, CD9)                                  |      |          |                       |                        |
| 16   | CLASS "B" CONCRETE, STANDARD CURB                            | L.F. | 3,500    | \$25.00               | \$87,500.00            |
|      | (CD4, CD5, CD6, CD7, CD8, CD24, CD26)                        |      |          |                       |                        |
| 17   | CLASS "B" CONCRETE, DEEPENED CURB                            | L.F. | 5,250    | \$50.00               | \$262,500.00           |
| 10   | (CD10, CD11, CD12, CD30, CD31)                               | 0.17 |          | <b>\$500.00</b>       | <b>#20.500.00</b>      |
|      | CLASS "B" CONCRETE, MISCELLANEOUS                            | C.Y. | 57       | \$500.00              | \$28,500.00            |
| 19   | CLASS "B" CONCRETE, PLANTER AND<br>BUILDING SLABS            | C.Y. | 24       | \$1,000.00            | \$24,000.00            |
| 20   | INSTALL DECORATIVE CONCRETE                                  | L.S. | 1        | \$10,000.00           | \$10,000.00            |
| 20   | FLATWORK   | 2.5. | •        | \$10,000.00           | 410,000.00             |
|      |  |      |          |                       |                        |

**Project Number:** 0-4-1027-00 Page 22 of 25

| Bid Open Date: | 09/07/2010 | MINAKO AMERICA  |  |
|----------------|------------|-----------------|--|
|                |            | CORPORATION dba |  |

|     | No. & Description   | Unit         | Quantity  | MINCO CONS<br>Unit Bid |                             |
|-----|---|--------------|-----------|------------------------|-----------------------------|
|     | REINFORCED CONCRETE PIPE  | L.F.         | 200       | \$75.00                | \$15,000.00                 |
| 22  | 3" CLASS 2 AGGREGATE BASE   | C.Y.         | 10        | \$100.00               | \$1,000.00                  |
| 23  | DRIVEWAY AND ACCESS RAMP<br>PERVIOUS PAVERS OVER 2" #8 OVER 3"          | S.F.         | 25,400    | \$15.00                | \$381,000.00                |
|     | #57 OVER 13" #2 STONE   | ~            |           | 4-2-1                  | 4000,0000                   |
| 24  | PERVIOUS PAVERS OVER 2" #8 OVER   | S.F.         | 9,270     | \$15.00                | \$139,050.00                |
| 25  | 10-7/8" #57 STONE<br>PERVIOUS PAVERS OVER 2" #8 OVER 3"                 | S.F.         | 5,660     | \$20.00                | \$113,200.00                |
| 23  | #57 OVER 17" #2 STONE   | 5.1.         | 3,000     | \$20.00                | \$113,200.00                |
| 26  | PERVIOUS PAVERS OVER 1" #8 OVER 4"<br>#57 STONE                         | S.F.         | 1,184     | \$15.00                | \$17,760.00                 |
| 27  | 8.5" PERVIOUS CONCRETE OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE | S.F.         | 2,360     | \$15.00                | \$35,400.00                 |
|     | BARRIER   |              |           |                        |                             |
| 28  | 8.5" PERVIOUS CONCRETE OVER 25" #57                                     | S.F.         | 2,090     | \$15.00                | \$31,350.00                 |
|     | STONE SURROUNDING 9" CLASS 2<br>AGGREGATE BASE AND FILTER FABRIC        |              |           |                        |                             |
|     | OVER IMPERMEABLE COMPOSITE  |              |           |                        |                             |
| • • | BARRIER   | ~ -          |           | <b>4. -</b> 00         | <b>** * * * * * * * * *</b> |
| 29  | 5" POROUS ASPHALT OVER 25" #57<br>STONE OVER IMPERMEABLE COMPOSITE      | S.F.         | 2,270     | \$15.00                | \$34,050.00                 |
|     | BARRIER   |              |           |                        |                             |
| 30  | 5" POROUS ASPHALT OVER 25" #57  | S.F.         | 1,700     | \$15.00                | \$25,500.00                 |
|     | STONE SURROUNDING 9" CLASS 2  |              |           |                        |                             |
|     | AGGREGATE BASE AND FILTER FABRIC OVER IMPERMEABLE COMPOSITE             |              |           |                        |                             |
|     | BARRIER   |              |           |                        |                             |
| 31  | 4" AC OVER 6" CLASS 2 AGGREGATE   | S.F.         | 76,655    | \$5.00                 | \$383,275.00                |
|     | BASE AND 4" AC OVER 11" CLASS 2   |              |           |                        |                             |
| 22  | AGGREGATE BASE  | TOMO         | 21        | ¢100 00                | ¢2 100 00                   |
|     | VARIABLE DEPTH AC OVERLAY<br>GRIND EXISTING AC PAVEMENT                 | TONS<br>S.F. | 31<br>720 | \$100.00<br>\$5.00     | \$3,100.00<br>\$3,600.00    |
|     | SLURRY SEAL   | S.F.         | 35,800    | \$1.00                 | \$35,800.00                 |
|     | BOLLARD   | EACH         |           | \$300.00               | \$78,000.00                 |
|     |   |              |           |                        |                             |

**Project Number:** 0-4-1027-00 Page 23 of 25

Bid Open Date: 09/07/2010 MINAKO AMERICA CORPORATION dba

| CORPORATION dba  |   |   |  |   |  |  |  |
|--|---|---|--|---|--|--|--|
| Item No. & Description  Unit Quantity  MINCO CONSTRUCTION Unit Quantity  Unit Bid  Total Bid |   |   |  |   |  |  |  |
| <u>-</u>   |   |   |  | \$7,800.00  |  |  |  |
|  | L.F.  | 2,126   | \$35.00  | \$74,410.00   |  |  |  |
| 8" PVC PIPE  | L.F.  | 369   | \$50.00  | \$18,450.00   |  |  |  |
| 12" PVC PIPE   | L.F.  | 314   | \$100.00   | \$31,400.00   |  |  |  |
| 18" PVC PIPE   | L.F.  | 33  | \$200.00   | \$6,600.00  |  |  |  |
| 10" WIDE SLOTTED DRAIN   | L.F.  | 177   | \$100.00   | \$17,700.00   |  |  |  |
| PRECAST CONCRETE FLOW DETECTION CATCH BASIN  | EACH  | 3   | \$5,000.00   | \$15,000.00   |  |  |  |
| 9"X9" PLASTIC CATCH BASIN  | EACH  | 7   | \$200.00   | \$1,400.00  |  |  |  |
| 18"X18" PRECAST CONCRETE CATCH   | EACH  | 2   | \$1,000.00   | \$2,000.00  |  |  |  |
| BASIN  |   |   |  |   |  |  |  |
|  | EACH  | 1   | \$3,000.00   | \$3,000.00  |  |  |  |
| BASIN  |   |   |  |   |  |  |  |
| 36"X36" PRECAST CONCRETE CATCH   | EACH  | 5   | \$4,000.00   | \$20,000.00   |  |  |  |
| BASIN  |   |   |  |   |  |  |  |
| GALVANIZED STEEL CATCH BASIN LID   | EACH  | 1   | \$1,000.00   | \$1,000.00  |  |  |  |
| PVC PIPE STORMWATER CLEANOUT   | EACH  | 23  | \$500.00   | \$11,500.00   |  |  |  |
|  | EACH  | 1   | \$5,000.00   | \$5,000.00  |  |  |  |
|  | ΙE  | 530   | \$20.00  | \$10,600.00   |  |  |  |
|  | L.F.  | 330   | \$20.00  | \$10,000.00   |  |  |  |
|  |   |   |  |   |  |  |  |
| SANTENO BASIN STRUCTURE  |   |   |  |   |  |  |  |
| NEW WHEEL STOPS  | EACH  | 95  | \$100.00   | \$9,500.00  |  |  |  |
| SIGNS INCLUDING POST AND FOOTING   | EACH  | 2   | \$1,000.00   | \$2,000.00  |  |  |  |
| PREFABRICATED 12'X22' BUILDING AND   | L.S.  | 1   | \$125,000.00   | \$125,000.00  |  |  |  |
| 2" ELECTRICAL CONDUIT FROM PULL  |   |   |  |   |  |  |  |
| BOX TO PREFABRICATED BUILDING  |   |   |  |   |  |  |  |
| 3.5' HIGH METAL RAILING  | L.F.  | 55  | \$100.00   | \$5,500.00  |  |  |  |
|  | EACH  | 3   | \$1,000.00   | \$3,000.00  |  |  |  |
| ROOF DOWNDRAINS  |   |   |  |   |  |  |  |
| ENHANCED GRASS SWALE   | L.S.  | 1   | \$3.750.00   | \$3,750.00  |  |  |  |
|  |   | 9   |  | \$9,000.00  |  |  |  |
| GRADE  |   |   | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,  | , , , , , , , , , , , , , , , , , , ,   |  |  |  |
|  | 9"X9" PLASTIC CATCH BASIN 18"X18" PRECAST CONCRETE CATCH BASIN 24"X24" PRECAST CONCRETE CATCH BASIN 36"X36" PRECAST CONCRETE CATCH BASIN GALVANIZED STEEL CATCH BASIN LID PVC PIPE STORMWATER CLEANOUT PRECAST CONCRETE HEADWALL FOR 8" PIPE 3" ELECTRICAL CONDUIT FROM PREFABRICATED BUILDING TO SAMPLING BASIN STRUCTURE  NEW WHEEL STOPS SIGNS INCLUDING POST AND FOOTING PREFABRICATED 12'X22' BUILDING AND 2" ELECTRICAL CONDUIT FROM PULL BOX TO PREFABRICATED BUILDING 3.5' HIGH METAL RAILING CONNECTION TO EXISTING BUILDING ROOF DOWNDRAINS  ENHANCED GRASS SWALE ADJUST MANHOLE AND VAULT TO | 4" PVC PIPE 6" PVC PIPE 8" PVC PIPE 12" PVC PIPE 10" WIDE SLOTTED DRAIN PRECAST CONCRETE FLOW DETECTION CATCH BASIN 9"X9" PLASTIC CATCH BASIN 18"X18" PRECAST CONCRETE CATCH BASIN 24"X24" PRECAST CONCRETE CATCH BASIN 36"X36" PRECAST CONCRETE CATCH BASIN 36"X36" PRECAST CONCRETE CATCH BASIN 36"X36" PRECAST CONCRETE CATCH BASIN  36"X36" PRECAST CONCRETE CATCH BASIN  4"X24" PRECAST CONCRETE CATCH BASIN CALVANIZED STEEL CATCH BASIN LID PVC PIPE STORMWATER CLEANOUT PRECAST CONCRETE HEADWALL FOR 8" PIPE 3" ELECTRICAL CONDUIT FROM PREFABRICATED BUILDING TO SAMPLING BASIN STRUCTURE  NEW WHEEL STOPS SIGNS INCLUDING POST AND FOOTING PREFABRICATED 12'X22' BUILDING AND 2" ELECTRICAL CONDUIT FROM PULL BOX TO PREFABRICATED BUILDING 3.5' HIGH METAL RAILING CONNECTION TO EXISTING BUILDING ROOF DOWNDRAINS  ENHANCED GRASS SWALE ADJUST MANHOLE AND VAULT TO EACH | 4" PVC PIPE 6" PVC PIPE L.F. 2,126 8" PVC PIPE L.F. 369 12" PVC PIPE L.F. 314 18" PVC PIPE L.F. 314 18" PVC PIPE L.F. 33  10" WIDE SLOTTED DRAIN PRECAST CONCRETE FLOW DETECTION CATCH BASIN 9"X9" PLASTIC CATCH BASIN 9"X9" PLASTIC CATCH BASIN EACH 2BASIN 24"X24" PRECAST CONCRETE CATCH BASIN  36"X36" PRECAST CONCRETE CATCH BASIN  36"X36" PRECAST CONCRETE CATCH BASIN  GALVANIZED STEEL CATCH BASIN LID PVC PIPE STORMWATER CLEANOUT PRECAST CONCRETE HEADWALL FOR 8" PIPE 3" ELECTRICAL CONDUIT FROM PREFABRICATED BUILDING TO SAMPLING BASIN STRUCTURE  NEW WHEEL STOPS SIGNS INCLUDING POST AND FOOTING PREFABRICATED 12'X22' BUILDING AND 2" ELECTRICAL CONDUIT FROM PULL BOX TO PREFABRICATED BUILDING 3.5' HIGH METAL RAILING CONNECTION TO EXISTING BUILDING 3.5' HIGH METAL RAILING CONNECTION TO EXISTING BUILDING ROOF DOWNDRAINS  ENHANCED GRASS SWALE L.S. 1 ADJUST MANHOLE AND VAULT TO EACH  L.F. 55 EACH 95 ENHANCED GRASS SWALE L.S. 1 | No. & Description         Unit         Quantity         MINCO CONDIT Bid           4" PVC PIPE         L.F.         78         \$100.00           6" PVC PIPE         L.F.         2,126         \$35.00           8" PVC PIPE         L.F.         369         \$50.00           12" PVC PIPE         L.F.         314         \$100.00           18" SUMPHONDORY         L.F.         314         \$100.00           18" SUMPHONDORY         L.F.         33         \$200.00           CATCH BASIN         EACH         3         \$5,000.00           18"X18" PRECAST CONCRETE CATCH         EACH         2         \$1,000.00           BASIN         BASIN         2         \$3,000.00           36"X36" PRECAST CONCRETE CATCH         EACH         1         \$1,000.00           PVC PIPE STORMWATER CLEANOUT         EACH         2         \$5,000.00           PRECAST CONCRETE HEADWALL FOR 8"         EACH         1         \$5,000.00           PREFABRICATED BUILDING TO         SAMPLING BASIN STRUCTUR |  |  |  |

**Project Number:** 0-4-1027-00

**Bid Open Date:** 09/07/2010

MINAKO AMERICA CORPORATION dba

| T4 arms | No. & Description  | T 7-0.34            | Ou antitu   | MINCO CONS   | STRUCTION<br>Total Bid |
|---------|--|---------------------|-------------|--------------|------------------------|
|         | No. & Description ADJUST VALVE AND CLEANOUT TO             | <i>Unit</i><br>EACH | Quantity 13 | \$500.00     | \$6,500.00             |
| 50      | GRADE  | LACII               | 13          | \$500.00     | \$0,500.00             |
| 59      | COBBLE FILLED TRENCH                                       | L.F.                | 430         | \$10.00      | \$4,300.00             |
| 60      | 4'X4' #2 STONE INFILTRATION TRENCH IN                      | L.F.                | 220         | \$150.00     | \$33,000.00            |
|         | LAKE SMITHHAMMER   |                     |             |              |                        |
| 61      | #57 STONE IN LANDSCAPE FILTER BASIN                        | C.Y.                | 31          | \$100.00     | \$3,100.00             |
| 01      | AND FLOW THROUGH PLANTERS                                  | C. 1 .              | 31          | Ψ100.00      | ψ3,100.00              |
| 62      | MIRAFI FW402 FILTER FABRIC                                 | S.F.                | 7,570       | \$1.00       | \$7,570.00             |
|         | MIRAFI NT100 IMPERMEABLE BARRIER                           | S.F.                | 13,330      | \$1.00       | \$13,330.00            |
| 64      | #2 STONE ENERGY DISSIPATERS                                | C.Y.                | 1           | \$1,000.00   | \$1,000.00             |
| 65      | DUST ABATEMENT   | L.S.                | 1           | \$5,000.00   | \$5,000.00             |
| 66      | STORMWATER AND NON-STORMWATER                              | L.S.                | 1           | \$15,000.00  | \$15,000.00            |
|         | POLLUTION CONTROL  |                     | -           | 4-0,000      | 4-0,00000              |
| 67      | NON-STORMWATER DISCHARGE OR                                | L.S.                | 1           | \$15,000.00  | \$15,000.00            |
|         | DEWATERING   |                     |             |              |                        |
| 68      | REMOVAL AND REPLACEMENT OF                                 | L.F.                | 360         | \$10.00      | \$3,600.00             |
|         | EXISTING UTILITIES AT NEW                                  |                     |             |              |                        |
| 60      | LANDSCAPE FILTER BASIN                                     | L.S.                | 1           | \$10,000.00  | \$10,000.00            |
| 09      | REMOVAL AND RELOCATION OF EXISTING IRRIGATION DOUBLE CHECK | L.S.                | 1           | \$10,000.00  | \$10,000.00            |
|         | VALVE AND REMOVAL AND                                      |                     |             |              |                        |
|         | REPLACEMENT OF EXISTING 4-INCH                             |                     |             |              |                        |
|         | WATERLINE  |                     |             |              |                        |
| 70      | FILTRATION SOIL MIXTURE                                    | C.Y.                | 90          | \$100.00     | \$9,000.00             |
| 71      | IRRIGATION SYSTEM  | L.S.                | 1           | \$250,000.00 | \$250,000.00           |
|         | SOIL TESTING AND SOIL PREPARATION                          | S.F.                | 182,100     | \$0.22       | \$40,062.00            |
| 73      | MOW CURBING  | L.F.                | 2,875       | \$10.00      | \$28,750.00            |
| 74      | WOOD CHIPS   | S.F.                | 145,600     | \$0.20       | \$29,120.00            |
| 75      | DECOMPOSED GRANITE   | S.F.                | 2,080       | \$10.00      | \$20,800.00            |
| 76      | CRUSHED ROCK   | S.F.                | 2,100       | \$2.00       | \$4,200.00             |
|         | DRIVABLE GRASS   | S.F.                | 785         | \$10.00      | \$7,850.00             |
| 78      | SYNTHETIC TURF   | S.F.                | 315         | \$30.00      | \$9,450.00             |
| 79      | SOD  | S.F.                | 36,500      | \$0.50       | \$18,250.00            |

Page 24 of 25

**Project Number:** 0-4-1027-00 Page 25 of 25

**Bid Open Date:** 09/07/2010

MINAKO AMERICA CORPORATION dba

| Item No. & Description            | Unit | Quantity | MINCO CONS<br>Unit Bid | STRUCTION<br>Total Bid |  |
|-----------------------------------|------|----------|------------------------|------------------------|--|
| 80 FLATS                          | EACH | 675      | \$20.00                | \$13,500.00            |  |
| 81 1-GALLON                       | EACH | 2,800    | \$5.00                 | \$14,000.00            |  |
| 82 2-GALLON                       | EACH | 98       | \$100.00               | \$9,800.00             |  |
| 83 5-GALLON                       | EACH | 1,575    | \$10.00                | \$15,750.00            |  |
| 84 15-GALLON                      | EACH | 18       | \$100.00               | \$1,800.00             |  |
| 85 15-GALLON CITRUS               | EACH | 62       | \$150.00               | \$9,300.00             |  |
| 86 24" BOX                        | EACH | 138      | \$300.00               | \$41,400.00            |  |
| 87 36" BOX                        | EACH | 7        | \$500.00               | \$3,500.00             |  |
| 88 48" BOX                        | EACH | 1        | \$1,500.00             | \$1,500.00             |  |
| 89 6' BROWN TRUNK PALM            | EACH | 2        | \$1,000.00             | \$2,000.00             |  |
| 90 TREE GRATE                     | EACH | 2        | \$3,000.00             | \$6,000.00             |  |
| 91 PICNIC TABLE                   | EACH | 5        | \$1,500.00             | \$7,500.00             |  |
| 92 WASTE CONTAINER                | EACH | 9        | \$1,000.00             | \$9,000.00             |  |
| 93 FOUNTAIN                       | EACH | 1        | \$1,000.00             | \$1,000.00             |  |
| 94 FLAG POLE                      | EACH | 2        | \$5,000.00             | \$10,000.00            |  |
| 95 CONCRETE POT #13               | EACH | 4        | \$1,000.00             | \$4,000.00             |  |
| 96 CONCRETE POT #13A              | EACH | 8        | \$1,000.00             | \$8,000.00             |  |
| 97 CONCRETE POT #13B              | EACH | 4        | \$500.00               | \$2,000.00             |  |
| 98 CONCRETE BENCH #10             | EACH | 8        | \$750.00               | \$6,000.00             |  |
| 99 CONCRETE BENCH #15             | EACH | 6        | \$1,000.00             | \$6,000.00             |  |
| 100 LANDSCAPE MAINTENANCE         | L.S. | 1        | \$5,000.00             | \$5,000.00             |  |
| 101 ELECTRICAL LIGHTING FIXTURE A | EACH | 24       | \$750.00               | \$18,000.00            |  |
| 102 ELECTRICAL LIGHTING FIXTURE B | EACH | 2        | \$1,000.00             | \$2,000.00             |  |
| 103 ELECTRICAL LIGHTING FIXTURE C | EACH | 5        | \$1,000.00             | \$5,000.00             |  |
| 104 ELECTRICAL LIGHTING FIXTURE D | EACH | 9        | \$1,000.00             | \$9,000.00             |  |
| 105 ELECTRICAL LIGHTING FIXTURE E | EACH | 4        | \$500.00               | \$2,000.00             |  |
| 106 ELECTRICAL CONDUIT AND WIRE   | L.F. | 4,450    | \$20.00                | \$89,000.00            |  |